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L Preface
[ .“ | ' -

: Thnst-&ist the fowuris and (inal volume ofthe series Craded - Go

. Problems for, Beginners ind 15 auned at the 10-:to 153-kyu player. The
problems here are mo. difficult than the ones in volume three and if

i
1
|

;. -you could solve probiems of the same level o0;. difficulty dunng your -

own gares, your strexiyyih would be higher than 10-kyu.

The answers to many of these problems are'a bit terse, but we are
ssuming that that many of the elementary tactics covered i the first
three volumes have buen iearned by the reader. One reason for.the
brevity of the answers is'to encourage the readers to thnk out all 'the
other poséible variaticis and to assure themselves that the solutions

“ “presented dolead to the desired result. The reader should attempt to |

‘refute’ the correct answer uniil he knows béyond -a doubt that the
correct answer does i iact work. By ponderir}g each'problém in this
way, the reader, will develop an mnstinct for. finding the winmng
move in his games. . .
Kano Yoshinor 9-dan
Marth 1990

U Glossary |
: s

atari — check, 1e. a ove threatening tq capture on the next
move.. i !
... dame — neutral points which: pzofit neither Black nor White. '
W -dan — rank given to players f0 indicate theiy strength at the game.
~_“When a player’s strength improves after att%j:'%ng the rani of 1-kyu,
. .he is promoted t0 amateur 1-dan and as he..l ecomes stronger, the
“numerical vatue of hus dan increases, The 'oé amateur dan rank 1s
1 rusually. 6-dan. The professional dan ranks st@rﬁ at 1-dan and go up to

usually about two stones stronger than an amateur 6-dan. See kyu.
- double 'qztgm — giving atari to two different stones or groups of
- _stones-at the same time.. : Bk
g eyg———_z‘x&joint on the board which is.surro;?nded by stones of the
“isame color.:: o ‘a

shiape in which your stone is ¢ ptired but it 1s illegal to

v kor—as

. Tretake the é:lapturmg stone even though -mi]"”can occupy all of its

- -, liberties. | E ; _ _
;v kyw —la rank given fo players to indicate their strength at the
A Beginmers are arbitarily classified at 3 -?u and as they become
g +=stronger. the numerical value of their kyu decreases. For exaniple, 15-

.. lkyuis stroriger than 20-kyu. See dan. - s

L0 %% ngkede — a large eye-space which, by shM'play, can be reduced

" “to a‘single eye. {See explanation on page ZF.ZEOf volume one of this
wseries.) 0 B
" oidloshi — & move which gives afarl 0 a group of stones m such &
“way that no matter how one defends, the group will still be inatar.
oshitsubushi — a shape i which you give: atari to two or morv of
your-opponent’s stones- in such.a way that hejcannot defend agmnst
" Yhis atart without commifting suicide. l
. seki — an impasse Or stalemate between gkro’;ups: if one side tries 10
485 ttack the other side’s group, his own group is pul into atar and
dies. Therefore, neither side can attack or at mpt to atari.
* snapback — a tactic which one stone is| offered as a sacrifice and
"if it is taken, the capturing stones are in fur caitptured.
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9-dary, which 1s the highest rark attainablq.i.f?_s professional i-dan is.
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SEOTION S

Problerﬁ 1. Black to pluy.
How should Black piay to

top? All ladders are favorable
for Black.

Problr:m 3 Bla( k 0 ﬁ?ay.l

{o emsure that thic white
groups at the top. and i bottom
rema*n separdted )

Problem 5. Black to play.

: Black has . to - gwe Up Q. -
" stone at the top. What is the.

best way to sacrifice it?

MME;LE,,-GMV’L *4‘*{;252

rescue his’ three stones at the -

How should Bmu\ connect .

LS

‘.-'-".’!. $
ALIVED

[

Prob-em 2. Black to play.

Black has a tesuji which
‘enables thim to capture tree:
white stones.

Problem 4: Black to pldy.
Black has
will ensple lim to captare two!
white stones.. Black’s [1rst.

- move is'important.

Probiem 0. Black to play.
What is the best way to In-
vade White’s territory? :

D -

il Probléng‘Q Black to play.
a tef-‘le wlnch y

- proi';vlem 7. Black to play
Black has a tesuji by which
_.:he can either rescue his iso-

ijlated stone in the corner or

How K;}:1ou1d Black answer

l" White 17 Black should mainly.

“ithink about defending the
shape of hlS own stones.

I A T @@‘f} 8Od$
A@Q Q@@@C*:

1

Fo-r+1-

- N i
s Problem 11. Black to play.

Seven black - stones are

. -about to be cut off. Save them

by sacrificing a stone.

-3 -

AN |
Prgblem 8. Black to play.
Where is the vital point

o He -
F @ N l !\/

w1
¥

that - fo‘bs White’s stones of-*;;;

their &

ase? Black best move is -

~ one thatmakes good shape.

i

H

NN EE

There is a black stone in.
atari, | :Should Black think
~about savmg this stone Or
sacnﬁcmg 1t‘?

Problem 12. Black to play

How Lcan black link up his

stonesl on the right to the ones

in the comer" Don't let this

sn:uduPn turn into a ko.

I
|

Problem 10. Black to play. - 2



Problem; 13. Bluck: to Dplay.
How -should Black play in
this position? .

HRARS | el
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Problcm 15, Black o play.
How should Black attack?

You, must play a move that
robs White of his base. .

i
|

‘o

et R

Problcm / 7 Ll .0 Dlay.
Black's three stuies on the

outside are weak. |

to destroy White's vye shape

while eliminating weak-
ness of these three stones.

o lask 18-

Proi lem T4 Black to pfay

How should Black play?
Note the similarities and’ dif-
ferencss between this posmon'
and tl‘at of Problem 13. |

|::._T) l l 5‘--t ;f\"

Protiem (6. Black to play.
Two white stones are short
of liberties. Attack them by

striking at tiie vital point;- -

Protlem I8. Bluck to piay.
Save Blacl’s three- en-
dangerc,d stones. You - fust

utilize the one black stone on-'

~ the ng, 1t
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Problem: 19, Black to play.

hﬁ-e5 stones at the top and

]
fyou dedn | bapture . the - three
i,
J’escue siX| ¢ _§/4._ Black:"

i

\;@, Prab!err 21 Black to play.

it How should Black atari the
fhree wh1ﬂe stones at the top?

_  i ® F.
AR S8l ans

* Problem 23. Black to play.

By usmg“‘ ‘squeeze’ tesuji,
~ surrounded stones as well as

at tl:le ?o?ttlom.
BRI
”:?%é 8
i ﬁ%g@@*

i
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oblem 20. White to play
White must save all of his

N
- @

TC@@@@@@
D

capture. the two black stones

Prob em 22. Black to play.
The| black stones in the

- corner can live in sente.

T ' i T T 1 J

PR S ArIPIgin
8011960

T aar
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Problem 24 Black to play.

.. Black can-capture the three Ho

white .stones on the right in as toli

-sente by sacrificing a stone.

should Black play so

stones?! : |

-5 —

c up his two groups of
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P.roblem 25. Black to play. Problem 26, Black o n!ay ’ : G Problem 31 Black to.play. _ " Problem 32. Black to play _
~:JHow should Black play so ‘How should Black play. 0. P By pacrificing  two. stones, . . Capture six white stones. . . .
48 to-cut off 'six white stones  as: éo link up all his stones" B 15 Black . can ‘capture three of Sk
from the center? T | _ ey g L‘z Wl;ute< glthe center .

s ‘r'—{v ‘ '," = SN R NE e ann i T
O E B | OO @8 !
1 ?3@ Shed T ‘?o QL8R
] T @06 @9% D N o & @a 10 QOO
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Probiem 27. Wiare to play. Problem 28. Black to plczy - TN S AN _
TII()W should White play 50 Black has to capture ‘two o L ' - T _
as 1o capture three black  white stones to rescue his nine : S - Problem 33, Blacic to play. ~Pr oblem 34. Black to play.
stones? White's second move  stones on the right. L o i - Capmre. two white stones Black can link up his stones
is 1mp0rt.1m ' S : - . - and rescue the three isolatad by cgpturmg two white ones. .
. % black stones in the center. |
SIS i
: ; o - i /--\ e | i 5 hau s
- Bt i _gﬁg_;
Heggel 0800

Prébzcm . Black to play. ’:obl(fn'fz 30. Black to pmy T TR |EBQ*’<‘>— ' o L L @

Black has to capture .two Capture White’s two Stones B - Problcm 35. Black to piay: Prlpblem 36. Black to play.
white stones to sive his four  at che top and rescue: :the four’- - - Capture the four white Black must capture a white
on the left. biack ones in the corner. : .. stones in the center. stone to Link up all of his.

- L S ' . |
-6 : ~ - M




. ' SECTION 3. OPENING PROBI

s o | EREE

‘_u . A T B ,‘ . |
- © ® i2

. | - ; g I -
Prol,,,em 38 White to play. % = : —. TR

Felwm

Problem 37. Black to ptay

Hov should White play s0

JUatS AL e

o BT PEL I

Black can rescue his three ; -
~asto Lapture the black stones S 4 T g _j: ~
at the t()p‘? S _ eg & N I 44
: “ o1l Problem 42 43 44, 45. Blac# té play
‘in each of these corner position, White has played 1.

i Lo How shoutd Black. respond in }each case?

-
Probiem 39. Black fo play. Proilem 40. Black to play. L it
How should Black play 50 Black tu capture SlX”‘Whlt N
as to capture three white ~ stones T "
stones and rescue (WO of his ' ST DI
: own at the top? o : L o E

These two positions often arise in 6-5t I hand1cap games.

Problem 41. Black to play. '
Black to capture six whiie stones. S T How should Black answer

Problem 46 & 47. Black. zt; play.

ite: 11in each?

—8 -
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Problem 5 0.

. White to-play.
" The points A, B

and C are

spice

i

Tall two- |
exlensions!

he: prope

choice i this POsi-

r
i

“Which 15 1
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0
=
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“‘Problem 53.
Whire to play.
White A, B, or

C7.-Which one 15

the-*best move?

" SECTIOI\ 3. LIVING GROUPS AND DEAD CROUFS

Problem 55

Slack plays, White: dze:. |
White can’t make two eyes.

Killall the white stones. :

Pmblem 54.

' Black plays, White dies.

GA big-eye space Vversus @’
small-eye space. One move
seals the fate of the thifteen

white stones at the icp. ‘

12 —

iy | g*pblem 58.

o

R LR LR R R

e

. brobtem 56. _
Black plays, White dies.

Black can Kl all the. white
2stones bqt be careful of seki.

.

Black] plays, White dies.
The. f}rﬁt move seals the
fdte of thc whlte stones.

-k Sqmmpsouni
@O O@
i _ﬁ@gg:’; -4
S R e e L
“ " Probiem 60.
°  ‘White to play and live. .

i ‘a symmetrical position,
“play in the center. But which

.g-center point?

| Problem 57.
-Blétck plays, White dies.
By | ‘sacrificing a

on thelleft.

s
&1
Ny

198
iPromem 59.
Black plays, White dies.
Kill the white stones un-
condlt}onally ‘
ii:‘.l g

!
o TITT
1

thte .can’t capture two
black _stones until he has
played- on the vital point.

stone,
. Black cdn create a false eye
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: Probler 62.

 White to piay and live.
,-‘;:-I‘f,Whitc makes an eye i
thé corner, he can Jive.

TIT

Black to play and live.
\ To live, Black has to-cap-
ture the three-stone
stone group at the same time.

- Problem 60.
Black to play and live.

for his stones in the corner:

and two-

By threatening to capture
“White by @ shortage of-liber-
ties, Black can get two €yes

e

: Problem 68;-

Problem 063.- s
i~ Black plays and kills White.

" White to play and live. -
_With one move, White, can: ; . By sacrificing  a  stone,
. . i A i el S taashian . s
m:‘g}ce an eye 11 two places; N ?:‘E Black ‘call. il all the white
. e B stoes inithe corner.
R4 B 1 ' T i

En Black;-tg play and get a ko: -
v The pg}ly way Black can live
.~ is to create a ko. ‘
‘ -

ke ‘

B

 Bluck to play and lvé.
"By playing on “the | vital;
point, Black can jmmediately”
sueure life. b R

L
P

o 0
R "
A o
S LB

'Proble 6. lt - o :-' Prbbleﬁ*z —7_2 Bldck 0 pl l
Black to play andlive. 1o ‘White has just pleﬁred 1.

. The only way hat 5B13C}{ . ... Taking into account the corner
can live is to -creas he . % and the two white StODES in
.‘imder—the—stenes t_esuﬁ‘ IR " gtari, what 15 the best way for

¢~ Black to play.

_ 14 -

| T t
| TProblem 69. - ..
Bi’aI K plays and lalls. White.:
Blac}; can unconditionall

kill the white stones in th

COTDET. .

LN
Ramrares
A {‘%@ 9
A ,
|| Problem 71.

Bl&;cig to play and get a ko.
If| Black gets a ko, he will
have succeeded.

: |
" SECTION 4. ENDGAME PROBLEMS

Aroblem 73. Black to play.
There are WO endga
pdiﬁts“ remaining. . What 1S .
most profitable way for Bl
to play? :

|

~15 —
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Prg D!em 75. Black to ptay
W ‘1at i3 the best way Lo ]
reducn ‘White’s temtory? A i
-1 i : B
", - B B ! %
{ s ;E T J i
S = ' . gl.f
+ -+ |
: 1 1
F @ . | 4
@O@OO@ |
+® . aee ol
a8 @O—-« {8
TR ] " i )\\/ gt |
: Probtem 76. Whute to play. Priblem. 77. Black to play
~ How showtd White play in There is.a way that Black:
the corner L,)I maximum gain? - can capture the five white
!.» - thI’l‘ s on the left. i : A
T T . EAEE
(. L
- Froblem. 78 Blacfc L0 niuy ' - . f‘l - ‘ ‘ l
As%ummw {hat there is no other more profitable points cn the ' _ : | l
board, what 18 the best way for Black-lo respond to While 17 - 3 1 _ l
— 16 - -17-




SECTION 1.

=t l"T S
Prob‘lem 79. Black to play
When White attaches with

'iitthere are three standard

responses. What are they‘?

thk can | rofltwbly attack
thé white stones, Your dim
shoutd be to catch a stone.

ALEALE
’ }

Problem 83, Black to play.
All.- the ladders are in
BlaLL\ s favor. What 1§ his best
mo__w, in this-position?

: MIDDLE ""'Al\'ﬂl E’R{}M AMVES

I'roblem 80. Black t play "
"There s a good way 1o put B
pr\,asu.re on the three white
stoties in the corner. Can you w
finc it? L

Prob em 82. Black o play. -

The exchange of 1 for 2 has
]us taken- place. Black now .
has.a geod follow—up 1"esuu T

Problem 84. Black to play.
After White 1, how does
Black keep up the pressure?

- 18 -

R VT S e B

- TEE

FL aa AR YA

A %‘%“7‘

() @

nm

T .
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Droblem 85. B!acic to play
;. How does Black attack the

this bo ition? Is there any dif-

. three wh1te stones‘?

IR

1%3 EREEI T T TF
i3 ‘: N NP —
| 23 : \ L ol 1
et e T

i

L
3 1}‘ .
Bl

1

Pr blem 86. Black io ptay
ow -does Black attack m_

i t

Ll

< b2
Il

REEEN

‘than -playmg at A to attauk

9T Whute’s stones at the top.

FProblem 89. Blac,c to play.
At which pont — A, B, or
( — should Black respond to
7 White 177

19 —

‘ robl jem 88. Black to play:
te s large-knight exten—

sion 1$ a bit thin.- Where
| shou*d Plack attack?
1
|
|
I
i
I
I
R /i\
C |

o Pr blem 90. Black to play.

Black wants to link up hi¢
isolated stone to the ones Of
the i#:ftl How does he do this?

i




1<~ Problem 96.

! Black to play.

‘o> Which of the
_ - “hree: points. — A,
- B, or C — shouid +

“White - play? Keep |

_ _ ©m mind - Bladds FOC
A \ “thick © position on |~

Problem 92. Black to play. l o he left. 7
O L. ;

T y - ___T,T " gt
L 01. Black to play.
. White’s  stones - are vul- FHuw does Black respond
“nerable.; How does Black at-. g
“tack them? ‘

7k

I TE R G Y

EEISEES =
i it S0
il

3

" Problem 97.
= . Black toiplay.

e ""-J:\SI‘\E«’"’ e i o Black hasto con-
R R Tigh ﬁg L i lyeet his twostones |

& ":,\._)\;[2. —EEn- . “ i: e i . e
B o T L6 in the  top. cenier. |

i .:—i-mmwm-nv_ﬂ-!‘ -ty

1- "'}’-*\"3“ | e -Ir* . L A ‘@hen he does so
. Problem 93. White L0 play. Problem: 94. White to play: -~ SR ﬁforreéﬂy,' L ‘%.e s
‘How dbes White put pres- White must first squeeze o ~have Mc%'i?ﬂ'icutting
sure on the black stones? - : 1 i

~ the Tlack stones 10 the right. - “poinis to alin
Then he <an effectively attack - R
Black’s stones in the co_rner.%‘ P S '

t

5" Problem 98.
v Black to play.
- Black has o
_ defend his position ™15 L
4t the bottom cen- | | 3
-ter? How can he do |l g
this in sente?

R e A3

B

]

| FProblem 95. Black to play.
Black has to defend his corner. Whatis [T e
{he best way for him to make €ye shape? o o

E]

— 20 —




_ - H*‘\!Hilu
'-"'_7 L;w:’ 1, t@@ T
.. THe0Trec| -
_ . 1 l @ @Q_ A’/
OI’QD[(’I’YE oy, ‘/;;;’g-g to play. Drob’am, ;J Whur to ;Jlf‘y ‘ | | @ I @-w
Flow should /hite play $0O What 15 Whute’s {ollow-up - L L |
as Lo,create a double tm-eat‘? after Black plays 27 You have - Problem 105. Black to play. Problem 106. Black to play.
W sacnuce lwo stonex : e Uncond1t10nc111y capture . (ut off and- capture
i 3 o Wh1tc s stones on the left: W te’{ three stones at the_
it bottom. -
Ly = i
I % : T
< T N
a6, " ‘;@ -+ 0
e e
Problem 101. Black to play P 1 - B E
“ "y¢ Black can capture “ Problem 102. Blacx toi pla} T -+ j 1|
.. White’s five stones o1l the top  How can Blac Capture : _ S | o ;
'-‘Ilght he can save his center  four of White’s . s*ones in the ceo ogETe b - - )J
stones. - . corner‘? : o IR TIRRE Ll n.107. White to play. P pblem 108 White to play.
e _ : T e S - Capture four black stones. apture three black stones
‘ B | Lo . 1 '
W REENEE 1 i
(A\ T
/ —l’f
) \ Ir f\ -
HH 1o - @% 580
| : 'L - ‘ o ‘ - f)ezji- -"J /}"‘ JL | / | ,u%( e
\_H_-wh \r 1: . Probfe‘n 104 Black to p'ay B -513@0 DE Q-‘- wf 1 C
o103, Black to I ~  PBlack can capture. three o, '
Pg)yui r;zcn%cmg a. ps,toyne, - white stones and regene -his g Problem 100. Black to play. Prloblem 710 Black to play
Rlick can capture five white - fouratthetop. . ' “Cut coff  and captiure 1ack can capture thr
and ‘save three of his o White’s four stones at the bot- whlteistones and rescue fo
ones . ; tom. of His'own on the right.

GWIEL

- : I‘:I

|
23—
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Problem 111. Blaci to play.
Black can caplure
white stones and rescue his
eight in the corner. e

stones in the center. -

Problem 115. Black to play.
Capture thiee white stones

in the center- i
: still escape.

¥ #__

T Problem 115. White to play. 7
i . The five white stones here can also escape::

— 24 -

Ppbicin 112, Black (0 play.
three Rescue  the  fous black ..

: t___\..,__!l—:..l.—m L y o o
; Probier 114. White 1o play-

“The ‘white Sione is 1com-
pletely surrounded, but it ‘can,

S .

Problem 116, wesmmsp 11 L1 ]
-

.~ How

§

ttack? Lo

_SEC’NON 2. OPENING.PI;

Black to play. I —-

_ - :should —F

" ‘Black ~attack ihe 7
white group on the - s T
‘right - after White TR

_-has played 17 P

4%% SELE -

)4 ! _ RLIERE

B A - e o e
s : T (|
TN ; N LS I .

A et
TR .
A R | Jl_

i

- Problem 117

Black rg play.
- White’s shape 1s
"3 bit unsatisfactory.
~“How does 'Black at-

i

L -
|

H—

1 a7

. jo

i

4
+

£ Problém 118.
o White to play.
qeT - Which of the two

! points — Aor B —~
- ®ishould White play?
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Problem

the
: Of

. the three .points A,

2.
.. B,.and C, which-one

right 18
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in mind
te Posi-
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;- middle - game.
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Black to play. -

:I/Vhitie to play..
- The next move is |——B
‘yery important since
> it will determine the
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Problem 120.
White to play.

‘Black to piay-.
‘h

There
Which

point’
that
Wiute . play?

o

3

r)

= should White play




Proplem 123.

White to play.

Where  should
White play — & B,
or. C? In the transt-
tion from the open-
ing “to -the anddle

of play is extrericly
jmportant.
w

SECTION 3. LIFE AND DEATH PROBLEMS

game,.the direction

a Blacic plays, White dies- -
1§ Black sacrifices a stone,
he can kill White. _

~ 28—

T 7 1.
~ Problem 125. 1. .
_“Blacic plays, White dies,
Jf you hit White' on the
vital point, all ms stones will:

die.
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. . Problem 126.
4@ Black plays, White dies.

ke

“Since’ White’s two stones

oil the Tight are short of liber-

Hgs, you. cap kill the whole
itionally.
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ow . Problem 128,
. White plays, Black dies.
“Thar,e’s‘[;:ié death. . the

" ‘Rame,” is’ g famous proverb.

- Bat in orderto kill Black, a

gaod fallow-up Is necessary.
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- Probiem 130.

A :White to play and get a ko.
<% Turn this: position nto a
-~ ko, '

— 29 — ; _
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o Et_‘%zblem'lz?’.
Black plays; White dies. .
The first move is the most

-important.|-
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. Problem 129.
White £ play and get a ko.
Whether. Black lives or dies
depends lorl a ko.

b
Problem 131,
- White to play and live.
T IE Wlﬁté can sacrifice the
three stones in the corner, he
can get & sécond eye.
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: lay- St Problem 137. || Problem 138.
, . ] ﬂm@ml&iﬂmkwp PR . e ‘ R
Probiamhb.? glcgigsr?igpgxm . Because of a Sp_eCld!t Sl.ma' L Yo o Whate to play and win. Black to play and win.
: ..;Whlte ves O 1t ‘tion known 'as ‘long life”, Lo . White can capture the four Capture the " four whit
ink-on how he captures the  "ti0 U : s
%b K stone Black can live. How dees SRR bmmewmnmcmmu sKMsKomamMm
“1039';ac T Black manage it? -~ L : |
o SECTION 5. ENDGAME MOBLEMS
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el S and fves. Sl P blem 139. Black to play. Problem 140. Black to play.
EE - Problem 131;4 t%f;i t{f;ﬁght move, Black can hve I qu should Black answer HOW should Black answe
Thls 15 a strange position, bu S Whité £3? A nmstake couid Wlute 1?7 A mistake her
E :CTION 4. C APTUREP"GwF ACE PRGBLFMS _— _cost Black tweo points. couldg cost Black four points.
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S P:oblem 136 z A LR _
Probl(’m IJSl Black to play and:win. L Problem 141. White to play. ; N . :
Black to play and - win.  Black to rescue his three " . . Reduce Black’s territory as ' Problem 142. White to play.
_ Black has to capture three - tones and capture three of . 5 much as possible. The first What is the move to devas
white stones and rescue three - ith o . . .. move is the most important. taté Blac‘i s texritory here?

of his own. 3 SR R o

— 31 —
— 30 - l

i




lhxs )roblcm comes from & g,cmﬂ

mine by how many p

| What is Winte’s piggest endgs
2. Play cut the rest of the game
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Prob!em 144 (1 move)
Black to play and live.
Make. the move which will
expand Black's territory as
much as possible. ..

Prf)blem 746 (1 move}.
Biack to play and live.
Beware of a ko

e
Frobiew FA8 (T move)
Biack o i u} el Tve.

vital Hoint.

You have t{\ gy o the

C - 34—

Prabless 145 11 move)
Biack to piay end live,
Blask has to make an oom '
connestion, but on wh1ch )
Sldeq g . . T

r’mblcﬁm 14/ (1 mo'/r,) L

Llack to play and live.
Mitke tite move wlnch will-

‘expand Black’'s terntory as -
mucfi-as possible.

Probliem 149 (3 moves)
Black: fo play and live.
iohave o play. o0 the

)\J

vital point.
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Problem 150 {3 moves)
) Bla(,k toplay and live.
{ﬁf‘he black istone that is in
i to this. problem
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Problem I;62 (i movc)
.. Black to play and live.
You’ “havefto play on the
vital point: , #
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Problem 154 (I move)

'_' Black to play and live.
If Black can capture the

w0 white stones, li¢ lives.

06!
Problem|151 (3 moves)
Black to play and live.

The black stone ‘that is in’ |
atarl 1s. cmcgal to this problem
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Prob;em 153 (1 move)

Blac)l: to play and live.
Take 111to account the two
plack stones which are short

of hbertlf.les |

Problem 155 (1 move)
Blar!c to play and live.
Black: has two ways to live.
What ar% they?

-
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‘Problent 156 (3 moves) f’m!)lc,m 157:(3 meves ) |
 White to play and live. “White to play and live. ! _
The white stone that is'1in Play foraseki. | .
it i . u . : -

atari i$ crucial to this-probiem.

;Prootem 159 (3 moves)

Problem 158 (3 moves)
. White to play and live.,

White to play and live. .
“You have to play on the

vital pomt c1a‘

zouiem /61 3 rf"ovexs)
White to ptay and live:

Probiem 160 (4 move)
White to plav und live.

Play on the vital point.- Whlte to live. What are they?

— 36 __.‘f_

Making eye shapc 1s cru- e

There are three ways for’

?
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Problem 162 (1 move)
‘White to play and live.

- Getting a ko is-not good

wug,h b

Problem 104 (3 moves})

B!a,clcl to play and live.
The only way to live Is to

'capture akwhlte stone.
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Problem 166 (I move)
= Black to play and live.
" Getting a ko 1s not good
"enough.

Y,

Problgm 163 (3 moves)
White.to play and live.
Wh terhas a lot of liberties,
so he gail live.
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Pr(!)_'bfém 165 (I move)
Black to play and live.
The @fp;bvious move doesn’t

“work. |1

\ s

5@'
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Pro?)lem 167 (3 moves)
Blcltck to play and live.

Cap uring a stone right
away fails. Play the vital

pom‘ts\ E
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roblem 168 (5 ‘moves):
Black to play and live. -
" You have to capture three

'+ Problem 170 {3 moves)
- Black to play end live.
The two black stones that

are in atari.are:crucial 10 this

~problem.

quan o
Problem 172 (3 moves)
Black to piay and live.
Capturing the

two white
stones is not your first priorty.

-3

'-;-_'Probiem 169 (5 moves)
- Black to play and live..

Black can live because: the

corner is nearby.

“ Problem 171 3 .
 Black to play and live.

Problem 173 (3 moves)
Black to play and live.
Try to create 4 spapback.

The ‘black -stone ‘that'is e
aari s crucial to this problen .‘:

e P f’obiein 176 (1 move)

. secured |

-t stone,

. Problem 174 (1 move)
Black to play.and live.

18 Make&tpc move wiich will

expand -Black’s territory as

ipimuch as EEg{sgible.

b
£

Y
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Whltt? io play and live.
“ . White! diseems to have
two --eyes, but one

~“more move: is needed. .

l‘
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2 Problem 178 (7 moves)

White to play and live.
Threaten to sacrifice a

: schrqs' l;:ife. ‘

— 39 — | \l
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Pyoblem 175 (I move)
Black to play and live. :
A *nqve on the vital point *

.

DG

‘Prol_;allem 177 (1 move)
White to play and live.
Beware of a ko.
IE !

21

+H6

;

Sblem 179 5
Problem 179 (3 moves)
White to play and live.

Yoy have to think about :

Black’s stone on the first line. "

1
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Pmbtem 181 f3 mwes) R S roblem ] moves) . o lem 187 .movyes)
Probtem 180 0 }:ll?iee) ' ' Blaék to play and:lve.; j b BlaCk;lfQ_Play and live. B gzck to play and live. o
- Black to p &) 1t tol have ‘The black stone o1l thellcft S §§ tht ;the most profitable If you know the under-the- -
e:;?&g;k cyséeemﬁut the next IS cmm?ﬂ it Black is torlive. b | E-Eway"?ém b stones tesuji, you can live.
1 i o ¢ : ' T
move is crucial. ! . # [— 5 8%__ % %@Q
i 9, 3RTETS
R = Tl %@Qﬂ"
| : 53 PPN
i o eieleses
: ! ‘ T
- 'v 1 Prob i;n 1 88 (5 moves) Prob em 189 (5 moves)
' - Blac:fc 1o play-and live. B’ack to play and live.
(5 Tnoves
Problem 182 (l move) : gﬁ%ﬁﬁiﬁ a;:; uve) ‘ ‘Black;; §st to sacrifice 2 Bldck -has to sacrifice a
‘Black toiplﬂiyoa”d lve.. . You have to pay’ ‘special at™ .,‘- St@ﬂe to IilYﬁ o - stone tg live. -
_ Beware oltak tention to the tWO- white BT ‘ : B
siones in the corner: S e L _
LA | . | o T in
,‘---!_Llr—i-ﬂ S ' o 185 3 moves) g “ Problem 190 {3 moves) Problem 191 (9 moves)
Problem 184 (3 movev) - 1;; IO;CIE"; ; pla)} and live. Black to play and live. _ B113 ack ilo play and lwg )
. Black to play a?d lwewmte_ " The black stone in at du is - turT};ﬁ p;zglsvrlrlli :2 I;t(z}\z ;:;) cap- ol ckih as to sacrifice @
Capture: the - Tour ot important. _ e'the two . fo
-~ stones in the cOIMCT. : |
— 4] — l |
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- Problem 192 (3 moves).

" Biack plays, White dies.

Reduce the liberties of the
jower two white stones.

S

Problem 194.(5 _moyfzs)

Black plays, White dies. . .

Create: a 4-point nakade 1n
the corner.

W,

=3

R R T

'i""rob!ém_':l% {3 movgs,‘ _
“Black plays, White dies.

nokade. .y

o
4

Don't play for 8 ko; kill
White by -creating 8 4-pomt

i .
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Problem 193 (5 moves).
“Black plays, White dies!
Dont let White’s.stone on.

the first line come nté play.

-+ Problem 195 (5 rioves) -

" Black plays, White dies. "
. “There are two ways to kill
Wihite. What are they?

. Problem 197.(3 moves)

* Black plays, White dies.

" There are two vital DOINLS,

is not important.

A2 -

bt the order of playing them
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.. Problem 198 (9 moves)

. Black plays, White dies.
¢ Black must aim to make a
‘%5—[)0{5111; nakade.

) A 4
3 ol

LR I | -

; J2OO (11 moves)
i iays, White dies.
Ao o -Black»!;kiﬁs to sacrifice six

- #"stones to kill White,

@%@z«a . L

Problem 202 (5 moves)
Black plays, White dies.
- The trick here is to create a
.eshortage of liberties.

g%é@9~

Problem 199 (7 méves)

Bldck plays, White dies. :

Reﬂne}mber, ‘the bent-four-

in-thedcorner shape is dead.
| ‘ . .

| ‘

| :

L | =1
Prc;)blgm 201 {3 moves)
Black plays, White dies. .
Blaék!has to play on the

vital pbint and then sacrifice a

stone.'\

&

gl

Prd!bl;em 203 {3 moves)
Blatkk‘g plays, White dies. :
Aga}n ithe trick is to create .
a shortage of liberties. -
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 Proilem 205 (5 moves?
" Black plays, White dies.

" problan 204 {3 moves)

. Black plays, White dies.

NP ‘White
¢ Be careful not to let _ puint akade. -

‘live in & sekil.

S _ . —"' - . /3;.”10.‘):68)
Problem 206 (3 TROVES) Problem 207 ;

CBlack plays, White cf!ies.
R White by taking ad-
nt ot his shortage. of

Vi sporeof Tiberties.
vantage
liberties.

1

e
-

l!“rlob{en'e 208 (1 movy_:) :
VWhite plays, Bluck dies.

L lCongider White's oWnl

ofnre attacking.

&5 f‘“\“"

wenk point b

— & —

Kilt While by creating a 5=

S =~
.ns Prob
RBlack plays, White dies.. .
'1"‘ S ()i ‘:\ﬁ?.'j hitC’S ST.OIleS dTe -

- Hogle

[ 1 { B ) ' 1 ; H .- ' .._ |

L) . Prbem 214 (L o)
.. F. e, N v .

S . Jo dies:

White plays, Black ¢es:

Alack is shore of HDerues,

«o White can eagily il hir.

G110
. Lroblem 210 (3 moves)
1 Wiute plays, Black dies.
- The first-move is a quiet
i Eone.:s

roblen; 21 (5. moves)
Black plays, White dies.

- First ‘Black, must sacrifice.
~iwo - stones, and:-then one:

more.

S S
P

TP

‘= Black plays, White dies.
- Don't let White get a ko.

dead. ||
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Prdblem 211 (3 moves)
White plays, Black dies. A
Dor’t let Black getako.

0080 :

8o+

T A

Prol lf;m 213(3 movesy ‘
Black|plays, White dies. -t
A_fte‘-. the first move, it will - °

-be «casy. t{o see that White is

-
s
L

1

Problem 215 (3 moves)
Black}l'?lays, White dies.
Make ja bent-four-in-the-
corner shape.
bl

i
f
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-
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g -l R 1 : i Problem 222 (2 moves) Problem 223 (5 moves)
b g _ “ problem 9] 7 (9 moves) _ ] _Black ptays Whtte dies. - Black plays, White dies.
¢5) ; ;ob[ , . .
Problem 21 ( (7 moves - Blacic piays, White digs. = 1 @ Black ccan kill White by Find the vital pomt n the
Blacl: plays Whate dl@ji;)- thl{ has to saf'nﬁ(:ér two : [Eﬁ sacmﬁcmgwd stone.. S - cormer. SO
_Don et White g6t 4 | cﬁOIlGS to kill Whlte | sk EE i |
: ] —
. b \ ‘ ‘ "

: . . B 4 5 i .
- Problem 219 (9 moves) R Probu:m 224 (1 move) Problem 225 (5 moves)
Propiem 218 (9 moves)  Riack plays, White ¢ dies. L ‘Whitelplays, Black dics. > White plays, Black dies.
Bick plays, White dies. Thig 1 the same theme.&s = o ‘Utilize’ - the - shortage of “One eye beats no eyes!”
Arother two-stone sacrifice - thc fl‘r()CG(.hUU pr(fnlem . 7 liberties i of Black’s three Uuh}mg this proverb will
by Biusk. ' e ;- stones on tne left. - enable you to kill Black.

|

'Ai ________ ‘___!‘__7 U Y ‘.. oo -’ ‘.p;'.‘ -

T - problem 227 (3 moves). N Problem 226 (1 move) }Jroblem 227 {3 moves )

e obgf)m 220 (3 moves) Bl ack plays, ¥ White dies: e White plays, Black dies. thre plays, Black dies.
Slack plavs, White dies. i you play o1 the cvital T - Because of the stone on the A;tcr the first move, it will
tack Gan il WS bﬁ“ pomt yok Whm, 3 snape, you .- 1-2 point, the black group s be cl%lzar‘ that Black is dead.

: & at the . : ' - dead !
ause his three stones i ‘1 himm. 1_ S . !
ioh are short of liberties. con Ki : : Yo ‘ l

— -;43-76 -
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' Problem 228 (3 moves)

.- Black plays, White dies.

i The key 18 how 10 sacrifice.

the three biack stones..

et

& 1 098

[P % |

Problem 230 (7 moves )
“Black plays, White dies.
A sacrifice is the key 1o this

problem. :

A-d O
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Problem 232 (9 t_nov?s)
Black plays, Whie dies.

Play on the vital point and
. then make the pent-four-in-

~ the-corner shiape.

ST Y s
- ; Problem 229 (5 m,c)ves.f)
= Biack plays, White dies. |
AUtlize White’s shortage of:
liberties. AT PR

. Problem 231-'(3,m0vés)_ =
Black plays, White dies. -
Create a S-point nakade 0 -

K11 White. R
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Problem 233 {3 moves )

Black plays, VWhite dies. .

Attack White's: four stones
.. that are short of liperties.

A

EPr.Oblém 234:(1 move)
‘Black. plays, White dies.

LR L.

adl
phaadicy

Don’t

g
-

let White get a seki.
g

e e e W i
S ettt ey s e
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= Problem
Black plays and gets a ko.
Black’s stones on the first

B s
- line enmable mm to mum the

7., corner info a ko.

S Problem 238 (5 moves)

" Black plays and gets ¢ ko.
“There are two vital poInts,

but only one of them is right.

a Rt
“SECTION 2: KO PROEBIL MS

- P}ofglem 235 (7 moves) ‘
 Bladk plays, White dies.
=Bl§ck_-.i must - choose the

" right paint of attack.

i
Jod

NN
. -ﬁroblern 237 (5 moves)
- Black plays and gets a ko.
Black can get a ko because
the fivé white stones arc short’

of li er"ties.
_ -

| -Pr%)blem
" Black plays and gets d ko.
his becomes an approach-
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Biacli'plcays and gets a ko. - If‘j.ask pz’ays;tc‘zfl‘t gfnt LKO. -
Becaﬁse Whiite’s two stones i wad the vital P . g

" have two outside liberties, all ¥
Black can gét 1s a Xo. S
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Problem 246 (4 moves)  Problem 247 (4 moves)
= White plays and gets a ko. White p}ays and gets a ko.
% The special character of the The only way White can,
orner cnapgégs White to get 2 live is to get a ko. -

- pg1d
CELLEe L

Pemrs

Or —- 1 ‘ .A . . ) ] . ) k .
’:F-)"Obiem 243 (6 moves) %; :' AR R N | R Prob!e”?‘249 (6 moves) ‘
" Problem 242 (7 moves) ' Black plays and getsa ko: Ty .+ Problem 248 (1 move) Black plays and gets a ko. -
' gets @ ko. Black POy o e three . &0 . Black plays and gets " epec
Black plays and gets @ ‘ Tecause.  White’s: . three ~Black plays and gets a ko. By utilizing the - special
Because of White S short’ «osies are short of fiberties, 1., Acsekiisinot good enough, character of the corner, Black
o6 of liberties, Black can get stones arc SHOTE- L : e

Black cangetako. . . R can get & two-step ko.
2 KO, ' . ' N o : | |

. ; — : - /%&g )
i - j \ |
I'gl{ i - ¢ @@A

L Q:{ .1-,.“1__,4 o L——H% \ l_ﬁ

A 4 R A N

“j;f ; “4 -4 ! cl;v—es) . Problem 245 (3_ moves)“

G Pg?!;r;; iﬁlmg gr;sako.- ‘White plays anﬁ?ioﬁ o

\ | W”{Il'if' c-';ym"t live uncondi- The corper W kok
— un} § the key to geting a Ko

tionully. .

~.: _ - %% " - qi“ P " : _i—)@
L OEeTT T
18 Problem 250 (8 moves) Problent 251 (4 moves)
-:Black plays and gets a ko. Black plays and gets a ko.

- Black has two ways to get a The only way to live 15 by
KQ. ko.
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Problem 252 (7 roves) :
Black to play and gét ko S
“This is not an easy ko 10 56 .

; [ 1 .

Problem 257 {3 moves) Problem 258 (7 moves)

Black to play and win. Bluck to play and win. ¥

i Black has more liberties. Black |bas to sacrifice two .. .
han ‘Whité, but he must be  stomes):l . =i

SECTION 3. SEKI PROBLEMS o
: Ot - "éfﬁd%%%@~
et (RS DT+ - HOB00BBO06-
2 A foirrees

[y
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o ~ Pronlem 254 (6 moves) .
- T - . cfer
Probient Black to play and get a seki-

.
el
il

.P}oblém 259 (5 moves) " Problem 260 {7 moves)

Bluck i plcty wnd get {gikh(} “There are two ways to get & Black?‘jé play and win. 'Blczc_k to play and win.
What i the 10st PO Ceel, Which is better? SR _ Black fails if it becomes o el first move may be hard
way 10,gold seki? o B SRR < N tosee.| |

3

N

I

B i

(9269325 |

i
!
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I

ﬁ,»-ébiem %6 (3 "F?jOW,’S_)' S L. Problem 261 (5 moves) Prc%blém 262 (3 moves)

~
)

Lo O _
Proulem 255 (4 moves) Biack to play and get @ seki- " Black to play and win. Black to play and win.
Blaglh 1o play and getd sek. - T-J,Q:"lr't ;et White turn this ¥ There’s only one move that The| winning move 15 4
,i“hL:L; are two ways 10 get i 'Li";rc‘i <o) PR works. _ common ?tesup.
seki Wil betier? Hilo @ T S l‘
o - S -5l
87 ' ¥ l L




_ problem 263 (7 moves) ”
 Black to play and Wi
The three white stones cainot gscape. . ¥
SECTION 5. STRANGE SOSITIONS  ©

Problem 204 (1-move) | \,

Black to play and e
geta seki. g
_This pOSLUON s -
known as hane-sekL.
Problem 265...(1 nove) e iy
Black to play and \,_i O Seat, SN
I O N_A_)@‘
get a triple ko. L &9

if a triple ko oceurs
in o tournament game,
there is. no result and
the game -must be
played ovel..

Problen 260 {1 move;
Bilack plays: White dies.
{n spite of 4 double
ko, White dies.
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P:obiem 207 ,
Black plays, White dies.
First, play a quiet MOVE.-

- \

—

IREES
EIRAN
AR

Problem 269
Black plays White dies-
“The key 1O killing ‘White

rlié,s.in the 1sotated plack stone
‘ir the-corner.

"
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B B bee
SRR
T
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f Fe )ulwt u71
Blac! to play and live.
Don't et white turn. this

int6 & ko.

— S

o

e YNNG

b o
"routem 268 o

-Black plavs, White dies. "

‘th, gohtion 1[1\°’:)WLH u - Tw
sho tage fhbcrtleb : @E I
{ g ) ' [? g{a(;‘k Plﬁys; White dies.
eyt E;g _,E’n‘t.-legth1s become a ko.
prioided el ow S |

Problem 2/0

~ Black ptays, White dies.
‘The solution mvolves aL
g nortdge of hbemcs :

P
thté ;o play and live.

e

P
|

1
i
"_"T"“'_'."'; y
N

-
LR

g’

. . ,‘\/‘H) ;
- T
. ) - Problem 277
BLCL(J\.- 1o piay '_ | CE s White play.s, Black dies.

Does White live 0T, dle Create a 5-point nakade

,@, Winte must try to get.

Il

o

_*'.-Problem 274

Black plays, White dies.

:\Vhl e on the v1tal

i

3 1
B {
,Problem 276

. W_hzrf: to play and live.

First.

and foremost, White

must t]tl_;ﬁk_ about eye shape.

I T
BiE
ﬁi-— t
o

}Pmbzem 278

,zte to play and live.

't let Black turn this
mto a iko




Proulem 280 5
Blamc to play.. :
Smcu White 1s short: of:
hbertles Black can turn ths}
into a 1%(? ; i

F robtem 279
Black to play:
Black can turn this into a

 Problem 282
Blaék plays, White dies.
Play’ on the vital pomt of

the comer

S Problcm 281

" Black to pla_y . B
Aim to ‘live with just the
four stones 11 the‘c‘orner.

| Probiem f84

Problen 283
Problem  Biack to play and live.

Black to play and live.
Since Black’s group hias

ki,
liberty, he can hve in se do is 0 live with a ko.

- 58 —

o. : Tha liberty 15 gone in this
posumn, o the best Black can

| f_"'b'ﬁif..fﬁ

e IR

“Black play&, :

L
99062,

— g

|
6o+

o 18

E

ProDlem 285

. :Black plays, White dies.
Kill Whitel b?/ creating a S-
| p%‘gt na%ade

problem 287

hite dzes

Fzrst sacrifice-a stone and

the%@fmdke a l;)eht—four-m—the-
. @ H}
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_Pr_oblem 289
Biaci plays, White dies.

- Aim at- creatmg a 4-point
ndkade -

— 59

Black plays, White dte.,
The first

tant,

Black psc'z s, White dies.

Create a shortage of liber-
ties with the stx white stones
an the left, L

A

Problem 290
Black plays, White dies.
- Since Wh 1tes four stones
at the top are short of liber-
ties, all his strnes wﬂl die.

Inove 1S 1mpor~'
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Problem 9)1
Whiite:plays, Black dies.
Finding the first move Is

TRer 1]
@%@@4

Ty

important.

~ Problem 293
White plays, Black dies.
Create.a S-point nakade.

Problem 7)5
- Black to play.
Best play for both sides
results'in a ko. -

I“ust of all,
sacnﬁ”e a slonc

.........

Kl' e
i *

1

l

“h

i

1

~ Problem 292
Wiite piays, Black dies.
White has to

Problem 294
White to play and live.

Problem 296 -
Plack to play and live.
Scueeze the breath out of

Whl*e

— 60 —

Susrifice the stone that’s - -
atari. : '

_ - Probfém 301

Probfem 297

i Bluck plays, White dies.
Put’the Lwhole white group
0 a .snortage of hbertlc‘»

* o Prq.{:;lem 299
. Blap,%: to play.

Whne cannot live uncondi-
;naIIy

= Black plays, White dies.
- Note- that “White -has two

stones short of liberties,

:!Df

11-.

— 61

You
white StQ

”Cb@

Blag

R —e
lh0eos ao.]

%@%ﬁm—:

{7%-@0»«—
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; ;oblem 298

I}e,correctly

k to play and live.
have 10 capture the

xsrpblem 300

Blach 1.‘0 play and live,

Utlhze
atarl.

the black stone

Black

lays, White dies.

Attack at|the vital point

In
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Problem 303 Lo 1 304
© Black plays; Wihiie dies Biack Hays, wWhite dies.
-k plays, e dies.

v \ 1 ! H ,‘n K

problen 304 T i~ - Problem 309 _ ‘ LPr!‘oblem 310 .
‘ o ' "< White to play and live. White to play and live.

'y White has to -play the Whit¢ has to sacrifice two

T
[

> » attack gtop White from getbing pp VYRR
First, you have to atl 10}\ WO bﬁ: . S : I;péx_:.opelﬁ;_g‘shap(;''move. stonés. | I :
the vital point: ;: 1y i ~ - _
R Y i b oo
Tree88, i | - HO0OB
1118258 T @ 0oL
: | P : g 3 AT b e ‘ <
@Q*{-—" - 3 e e el -
\"‘r@@"}f ;TA@ hl D i " I~ il 3 ' Q
B2 neoe I B i I Tt
ot 305 Problem 3067 S T N I P N v
roblem 302 : B - . Proplem 311 Problem 312

‘ i . Lo e plcvs, White Cfi@S-. : Lgn =
il picys, White dies. Black pleys, Wi cies .  Rlyelk toid ; ;
Black playsy White A€ Yoy nave 1o-find @e right : ~ Black to:play and inve. Black to play and live.

Capturing oily three 5LONes foir black b "~ You have'to find the vital “You have to find the vital

N | B w"l /+ LU ‘CSCUC tllc FR - : H . z
15 nut good enougli- W ;, point for making two €yes. point for making two eyes.

stones on the mighte pe ¥ o L !
f ) L—-{‘“'}\)' \/\\_1__ T '—L"'Tli_‘}{ )C ) .
OB T l 1 il 20 1 Q0@
o Fe et | Hecase
faak: ? [Sleec - S
s SN EEE 82 Ot e
‘ B AR ' -Pr0ble % ( ‘ ‘

pfbhfem 307 . 2live.

L i H ’ .. White to la}’ anag uve. o g L - .

White to play and live. You havepto find the nght I Black to play and live. Bla
on have to find the right ek S ' How does Black capture The

way to- prevent Black irom. . e isolated white stone? * obvious.

cutting in the cornet.

k to play and live.

|
' :
Problem 313 JPfoblem 314
'c‘orrect move is not |

c:,n,pturing

- S - 62 -




| g
C thugions 318
Black 1o play and live.
Donit let White make 2
nakade. _

88T f)

e Tagyenel

- Problem 317
 Black to piey and lve:
" The key 13 how to sacrifice
the two black stones.

o ' b ],l._
Prodiem 319
Black ro play. .
Black camnol Hve uncondi-
tionally.

PR

— 64 —

siack to iy and e
If you. find he vital pomt,
living will be eusy. L

, - Probiem 318

Black plays, White dies.
The order of moves 1s i~
portanthere.

Black plays, White dics.
The -two white stones 0Ol
Jie telt are snort 0{_1 liberties.

1
i

o -t
A : .
i
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Problem 321
Black plays, White dies.
Don’ti let White make an

i |
©  |Problem 323
Whiteito play and live.

White has to sacrifice two

- stones to live.

Problem:325
White to play-and iive.
You have to capture all the
black stones at the same time.

. ;

1\() o o]
%_—C/,J

iProblem 322

Bﬂack to play and live.

Blackls group can live be- e

cause | of  the liberty on the
outside. |-

P

XQ 88

‘ 1 Problem 324
White plays, Black dies.

bDo‘nit let Black get a ko,

Lo
—(/Lij|--{:il\- '
OHTO8 |
Oss i &
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Qj@@g

Q_ A?@O(q)

| v%@ !

| Problem 326

W(zi;e plays, Black dies.
You have to find the best
way to. sacrifice the two white

|

stones, .
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Problem 327
Black: plays, White dies.
Kill White by creating 2
shorttige of liberties.

»+1[“ﬁgprry

¥

. Problent 329

Black plays, White ¢ lies.

First play o the vital point,
then rescue that stone

Problem 331
Black to play aad live.

The key-to this problem 15
how 10 capture the two white .

stones.

me vem 328
Black pleys, White dies:
Youhave t0 make two suc—‘:

ceqswe §.:1cr1f ces.

_ Problem 330°

- Biack plays, White-dies.

The order of moves s Y-
portant in creating a shortdgc
of 11bcrﬂes B

“rob[em 332
Slack to piay and Le.
There's a way 0 rescue (e
two sldck stones in the. porner.

-
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! Iéﬁ@@gf@\ X1 IR s
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- SOTTOSC8® |- T8 e
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& roblem 333 P
‘FB{Slack to play and live. Black j*giﬁg ﬁfﬂ live.
l! ack f can: save his stones Black ha$ to sacn}jﬁ?ce a
‘ nngt Iii"ee white ones, stone to mﬁke eyes for hi's.-
! . group in the corner.
| T&(
. 03 fgé?z
L - e 3@@—
; T 18981
. Problem 335 T Ploblem 33¢
: Prob
) ?lczc;c plays, White dies. Black ﬂlajvl: H;Vi:fe di
Wherc $ thcwtal pomt‘? You can: 1:111 thél b
o L ;. sacrificing {wo stones. ’
53% B — ki —hn i,
P : i B Uﬁ
AT .
T _ g
- - ) -‘
THteeo - 4
o] | g@%gf@%j - R Q0
SR M) e | i (‘"’)ﬁ
.. Problem 337 Drj |
S 7 oblem 338
I—)F{lack plays, ‘_thre f!zes. Black t‘o play and live.
Flay on the vital pomnt. If BldC?( captures three
white stones he can live.
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Proolem 340
Whlfe to-play and liver -
Wh}t,t—: hus: to sacrifice the

_ Problent 3 3’}
White plays, Black dies.
‘In order to kill Black, you’
ave to sacnflce two stones.

| other sfoneu are to 11ve

- Problem 342
- Wriite plays, Black dics:
‘How to-sacrifice the two
white :toneq 1s the key. '

‘Problem 341
White to play and live.
White has to make one
more eye.

H : i L .'—i‘" L
pacr=ei]

Prob!un 344 |
- Biack plays, White dies. |
Daon’t lat this situation be-

Problem ?fm’
Black to play and live.
Black has to sacrifice a
stone in order to live. - -

stones. .

— 68 —

five sines on the right if “his .:

come:a sexd: Kill all the whlte_

o
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o Problem 345
- Black plays, White dies..
i\{[ake ithe" ﬁye whlte stones
g& of hbertie%s o
i
|

.'_1_'__ T

™ Problem 347"
* Black ptays,'? White dies.

Fhink :abodtvthe shape after

the three: black ‘stoneb are cap-

... Problem 349
Black.to play and live.
]_f_ﬂack has to sacrifice a
stone to live,

Problem 346
Black 10 play and live.
The orderj.of moves is im-
‘portant. - '

Pro pbzem 348
Black to  play and live.
If you dor’t approach this

‘problem thoughtlessly, you
can expect Black to live.
RN I
i ] T |
: o
| (8-
i T
. DOT+0O0H
RPN JPNY S
LR |rees0s
Drcpblem 350

Black piays, White dies.
You have 'to make White
short of liberties.




Problem 351
Black plays, White dies:
You have 10 decide - 01t
which side to hane,

Problem 353
Black plays, White dies.
How should Black sacmflce
the 5{01‘9 in atcm

mBLadd
Problem 355
White to piay and live..

Make 4 Mmove with two

ihreats. -

Pr oblem 352
i Black to play and. live.
*313@1( has to saerifice a

stone in-order to hve
S

i
i

.. Problem 351\ |
* Black plays, White dies.

Attack the two wliite stones:

that are short of hberues
- ,

thte to play and live.

If you try 1O eapture the
“two black stones 100 qu1ckty,

vou will fail.
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- Problem 357

‘White to play and live.

Lh Wl‘ntethas to give up two of
this comer ‘_,_:tones -

L | ‘
PR Pfloblem 359
. Black pmys and gets a ko.

The onIy way Black can live

w=18 w1th a ko

Problem 361
Black plays, White dies.

.- If you play on the vital

Lo white stones.

come 2

| th J’roblem 358
_ zte to play and live.
Give pp the two-stones on

the edge,
T G0
i @&+ <
el
8¢
%%@@1
Problem 360

Blacc plays, White dies. :
Dotx’* let this posttion be- .-
1{0

\ |
i é@
_!' -8 )0
geatleny
eSS
| Problem 362

Blkz(:f"c plays, White dies.
The order of moves is 1m-

e point, you can capture all the portaT.j
|

B

L

- 70 ~




Problem 364
' Black 10 play.and lve.
Play o the vita pomt for

mdl’mg zye shape.

”foblcm 363
Biack p Lays, White dies.
You lhave Lo creaie @
shortage of liberties for .the
three wlntc, blODLb bhelow.

‘ Problem 366

" Black plays, White dies.

“Malie White's tw0 t,tonu
on the jeft sport of lmﬁmz,s

) Pronlem 365
Black plays. White dies.
Make White short of liber-

ties.
A S 6.7
Froblenm 5 d'eé
Black plays, Wmte [
2 (ies.

E lack Dmi};olrﬁt/fg g’;ehber- . Utilize Black’s stone, on t"le
, Tp’lte 49 fllst hllC -
11e8. '

o T2 —

ee
e 'Pmblem 371

1

Probiem.369
Blackto play and live.
Bzack h'l‘«; to be satisficd

Whtte to play and live.

< Unlize ! Blacks shortd% of
. hberues

‘G ~ Problem 373

White to play and live.

|°7 The correct order of moves
“'enables you to capture some
“Gilack stones and get two eyes.

i

I

"
73 %‘

E

l roblem 370
Black\plays, White dies.
You :can kill White by

“making h1m short of hbertlec;

&

. I
“Problem 372
White to play and live.

White ican live because of
his stoni in atari.

]

-

— S

'Rroblem 374
Whiteito play and live.

Be careful not to let Black

turn the corner mto a nakade.



~ Problem 375
- Blaci to plav and live.
You must find the right
way to capture the lone white
stone. ' '

" :. ’ ?7:’#
' L_l_w m
7 ()Lt{ i J77
BlauL plays. White dies.
Create a shortage of liber-
ties in the.corner.

Prob!em 37)

Black to play and live.
. Dot “let White make a

o ndkadc turn thlS into a seki.

Probilem 3767
- Blask o play and live.

You bave lo o ubiize the

bL;u( stone 1t the u()rm,r e

the right way

Pi vﬁem 3?5 ;
© Blacic plays, White diés.

- To kill White, you lmve 10;

_g.-,_ve up a black stong, '

Problem |
Black plays, Whltc dies.
- Strike at the Vltdl pomt

wesrzems dpmronermar S gt b
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Problem 381
Black plays and gets a ko..
Make Whlt short of liber-

tlcsf e

o

RS A v o 51',:‘ RS IO S

JE’roblem 1383
Elack fo play and Live.
Black can create a4 double
ko and live,

Problem 385
_Black to play and live.
Black makes a double ko

-¢ . andwins the capturing race.

— 75 —
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Problem 382

Black to\play and live.
idlack has to give up two
siones in the center to make

his others live.
' T
@@% g«?
|

.@\ -
16
T iR

P:o{;lem 384
Blacie plays; White dies.
~ Black kills White with a
double ko.

g%
T .@Q& )OO

P8

Problem 386
Black p!ayL and gets a ko.
Black creates an approach-
move ko. |
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Problem 387
White plays and wins
the capturing race.
Create a shortage of liber-
ties and even though Black’s
four stones have more liber-
ties than White's. wWhite can
still-win.
f

B
4 L]

Pr oblem 36)
White plays and wins
the capturing race.
_ White has 10 sacrifice two
stenies.

ED

Problcm 388
White plays and wms
‘the capturing race.
From -which side muid
White. attack the four JDlack
stone;?
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Problem 390
White plays and wins
“the capturing race.
Whlte “will succeed if
can g,et ako. :
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i | PROBLEM 4 | | 5
'i . .g ,—:-—" I ‘ l ks . I ,v“
- . . - i it - T e
_\l_,!‘l bt I S . i#’mng Answer * - L : : - i| ? ] - @i -+
ComectAnswer < pyng ain vib 3B R E T S 7 3 —m—
}% When Black plz}ys 1, 1,h(,_}nq1ﬂ - Blacit must’ answWer 4 with 5, alter : l‘ E\ o feq Answer § | . [Wrong Answer U
[ and 3 become mial, 50 Black can . i White plays 6. The tecee black. - e ,BE"-ECK 1115 the fesuji. If White Black 1lmay look like a tesuji, but.
g . . some white stones 1n.a 1ad- WO top will be captured- ]Eg:‘”esists%with % and- 4, after Black 5, after White 2, Black has no effective - -
a capturc somé . stonés at the Lop Wi 55 R mih , s
% . o o 3 . g1t Whitc smust) g*i?c up his two stones in (:onunua,hqfl.. .
il : 7 o : & ~gtari. I White2 at 3, Black A. P
B PROBLEM b S
" Y N R R ot e :
E; e ! . l \: T -
: @ €0 gy
S @t | -4
§ ‘t_,__;_._s.._l-—l,_l_a_l— ) Wrong AJ;SWer.: . R E Ny T i | %
Correct Answer 30 Black plays 1 without any: 3 @ TR 1 A B \ B I B
Black 1 is the [eSij. ¥ - ration, White plays the 1nOVes™ _ s o Ldrrect Answer Cortect Answer Continuation
! .wa'rs with 2; Black catches ‘three .pr%QQ dBQ i has no follow-up» SR oI is correct to atar first with 1. Black 'ataris with 3. This is the
W antfite ét ones by playing 3. to, anG B : | . “Whiteis forged to connect with 2, correct (%r_dsr‘ of moves.
it v - - ; S - after which _ - Ok
a PROBLEM 3 S B e -k \
é i ',‘A._..“, Lo : "7‘\7---1 ' : R E.M (_ i:_‘
i e - - w—% Ia
E G-t - EBER 17 “—{»@ ?
IF L {8 - IO @
\L ", SRR %”l i 7.‘\ .7 !1,_.\;1 .‘ \‘ _Ti‘_}k_g\_‘ ‘ - - Wrong Answer Wrongidnswer Continuation
\1 - 1\ L T - IW}ONg Answer o If ‘.Blac'k first atans with 1, of If Bilacgc now plays 3,, White |
C i AnsWEr . o solid connechion k) -=course White captures with 2. answers | with 4, so Black’s three
Correci 27 f Black 1 " ¥f Black maxes @ s <fones on 4 g stones arejishort of liberties. This
The open conaecton o t dt 1, White plays 2 and 'hx_s g ko : esult b L erior to the correct
s corrcel. Wil the moves u%avz he right side at® linkted up- Blagt -1 S I'msswcr -}
Black 9. White’s WO groups aas failed. ) ' " T S
ween effcctively scparated. . , .
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_“Correct Answer . Wrong Answer . N B L]
Black should jump down and at- Black 1 does not workl Wl;!iﬁ . - Wrong Answer 2
tach at 1. If Wi \te resists with 2, the. answers with 2 and 4, 'mld Black !cl; i ;: ﬁ% Blaclc, 1 is| th direct: After White Trying] lt separate the stones
moves to 7 follow. White has been run ouf of moves. The W uLc,_A;-)mnm . _ | _ ‘.3:5 Black’s stoﬁ}cs on ‘the right are below froﬁu the ones at the top with 1-
separated fntv (w0 groups. is stﬂl mtau as one growp. . ] -. . t;ili;?{avy and vuln%yable to attack. and 3 fails .after White plays 4, f‘lcar-
i N ' bii ly, Black '
* 3] '7 ‘ ‘ i ;J l':: ly‘ i e 1 Lo
f PROBLEM 7. | 1 »es, sinea it B
_ : : e
: T—T—\ e ‘j'rT T ‘ o PROLLEM 9 8
o l 51 P I . Rk
L - 3 L i'
i : -5
) 1 RS Wrong Answer | : %5
7 Correct Answer . . . _ :
Pecpit (w th Black 1 is the key- Black 1 Tails. Black may try 3 - Er T l g .
: I\;ﬂ;guo has no choice but to response to 2, but after Whitc 4 ho ) D .fn - drr et Answar .
mofvc ot liid s 1oss. Black has no follow=up. . g . Extcndlng to 1'is the move that 7. connects at 4 i
defend 2 \1«” he four while stones : . & prwcnt.‘? Black s shape from collaps- If Blagkitries to altack White's i
cuan now i50 \03 < ] . Tk ' mg, ‘ S stones wnrzl Whiie exchanges 2 ior
al the Lop with . o N ¥ _ P 3, thf:n ty:rng ‘Black’s group miv & i
i PROBLEM % . i b shupdless Vlump of stones up to 8.
L p o : - - . i
: s : e - ' i
. PROILEM 1D ;
Lttt 5 I !
SR LT e ] }
| ettt B | I s ' @
| 2% @ \ ) : : \ B ; SR 5 : — 1 ?
Lol i . _ : Wrong Answer i i R . _ Corife_ctArxgwjer _ ’ Iff;{ ngAnswer
orrect Answe of Bl ack 1 here may attaci the white- . The .stone 1 atari 18 not. 1mpor- if Blaqk yescues his stone with 1,
Blagk § destroys the base d stones, but the Dlack stones ard heavy - ' t'*nt Black ataris with 1 and con- White pl ¥ t;lthch or A and he will
While's group while makiog 800 j make an ,m,fi cient uham L.uucs 10, attack White's group with 3. have no p oblcm with these stones.
‘ shape for his stones on the right. anil, mak : .
| o — 81—
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“Cori e r}mmcr 1

Biack ghould cul-at 1. -If White
answers with 2, Black pmys 3 and 15
connected to im outside. White can’t
cut off the seven black stones. be-
cause heis short of iberpies.

: L‘rc)nqﬁmwr’ff
Jf Black sunply conr cels at s,

White ¢uts with 2550 the black stones

will dic:

Correct Answer

Biuck 1 cnables Black to link up

without any problems,

PROBLEM 11

ST R

C' prrect Awwer 2
If “White cuts from the- ommdu
with 2, Black plays 2. capturing three
white stones. :

i
i
i
I
P -
{
|

'VromrAmwer 2
Riack 1 s lutile. After white 2
15 cicar hai Plack canovol. Wi lhc,

capturing race.

PROBLEM ‘i{-j

Wrong Answer.

Whue gels a ko DY playng 2 and 4,

82— .

1 Black plm,'" from the other side,

e e g
DR

Mx) B0
1 rT9s%e e
BOD-

6

)

- Correct Answer
. Extending to 1 15 correct. If
Whltc keeps pushing --along the
wsond line, 1t 15;10 Black’s advantage
ﬁgﬁ eep. mm.ndlng with 2 and 5.

Tect Answer
L is ;’%‘.orrect White ' must
ceme bagk and; sconnect at 4. Finally,
Black catches] the stone at 2 1n a lad-
Llur confining \thtc to the corner.

1‘1.

PROBLEM 15

- TITTLOOTCd
A 1 | -
JT @ O0@- @
® e
“ < Correct Answer

* Extending to 1 robs Whitc of his
‘base and increases Black’s territory
“arthe same time,

ug.

o " PROBLEM I3

PROBIEM 14

R

 |Wrong Answer
Trying to}confine White’ to the

corner with1lis unreasonable. White

casily breaks out with 2 and 4. Note:
that now a/mgve at A is not a threat,

‘W-angAnswer
In this posmon extending with 1

and 3 Is pas 'vc Black has failed to

take full advan
posiiion,

vantage of White’s weak

'"%égg$i
B8
082
AT

]

rongAnswer

The schu ence 1o S enables Black
to capture|a Stones, but White 6 puls
Black in o dilemma, e must either
capture a |stope with A and lose his
advantage! in the corner, or deiend

the corner ahd lose two of his own

siones when White plays at A.

e

R LT
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Cuirvc Answer

Black 1
‘though White can captur
White 1s. conlined to ik
. Later Black can play A.0l

Clarreci ANsy

H4r connect:

The aians of Bluck

lowed by &, kill the

White 2 at 3 leads 1o
capiure. )

Correct L
The dingonal niw
Black to link up w;u-

right. 1 2« 3,
links up with the slm

the vitak ¢

nd 3; fol-
(e stones.
inmediate

T\' b

T —+€h-! L)
R O ey
\ir-'-l—( Ve L

PR 1

Sored uumw‘r
i, Bven I "White answers 1 wah 2,
15 stone, plays %, agai, coniimg White to the
ot side. teft. Later Black can threatcn the hfc
in sente. of the‘whﬁc stones with A. “
i ‘
PROBLEM 17 o

 Wrong Answer
plays 4, Whitc 15 alive

lf uidu
s oai 20 10 Blacikc 1T at A,

after capt! AYyriis

White B, and bLu,k mustigo back 10 -
defznd Lhic stoncs on the OULSidu toi- -

tmg White easily get two eyes.

PROBLEM 18

W 1 cnables
stone-on the
plays -2 and
1 Lhc 1Cft

“Wrong Answer
Black 1 cnables White 0 captm
and. 4. 1f Blacx
plays 1 at A, Wwhite responds with B,
oy the black stones cannol cscap(,

féur stones with 2

fa ] - 3
!

Black

ey s

- Correct Answer

Black squaczas White with 1. 3.

1d 5, “{hen'prlawq back wnh 7 The

< Tiis stones. Aﬂcr
h\, loscs all hxs stoucs on the edge.

q;e}aﬁg:;é;@
oo

Black should atari-

[T
o
=l
=]
o
"

‘Corréct Answer

Correct Answer 1

White 1 18 the move that saves all
, 1 Black plays at 5,

PROBLEM 21

with 1. If

" White captures with 2, Black plays 3
and 5, connecling with good shape.

— 85—

moves to
right afte:

,’@Cﬁ(ﬁ}(\-— -1

W‘ - ?E‘F‘:l@ongAnswer

o hite 17 captures two siones at
Lhe boltomy|but he loses five of his
stones abhy »

Toled|
é@c -
SO
@%‘%

|
|
j N
l
l
;

1T “”f@‘
‘ Ccrrect Answer 2

If WI; tg_: ;_;:smts with 2, Black con-
nects withi ;- so White loses four
stones at heltop.
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PROBLENM 24

- Wrong Answer 2

Wrong Answer i

: Bldck LK hef(r Lnds wﬂh : ;QS; ()f I_f Bld(,K first aldrlq \"Vlth 1 d’fld " b \,On’ecf_/fngnycr ]”VFUH A
" Black’s four stones after W plays then p’ﬂy‘i 3, White will playi4 and T R iAflcr Black| Tiand 3, there is no If Black |pl b 1nswar
2. 3 : : Biack now m“’q his stoncs at i Lop N 1) that -White :& n prevent Black for Blac;c to l:;cﬁg:suc h:?f; ;S: RO way. .
. - Gh : o3 ot i) ) ) ONnes o :
' SEET I R & hﬂkmg “p‘--“ﬁ‘_; the right aftdr;White 2. ’

PROBLEM zz{.;f DS S
| o o PROBLEM 25

e

Correct Answer . Wiong Answer % o g.Astwer
Black 1 and 3 enable B. Lo live If ‘Black- atans from the other S ‘Jlde 1, followeld by the scquence Black 1 faxls since after 2 White?
in the corner with sente.. direction, he lives with 3, but thLc 2 to 7; is the way{that Black' captures stones are linked to the outside o
can caplure two stones with 427 1 s g thc;@g( white stoncs on the right. o - g
o PROBLEM 23.__. o - - PROBLEM 20 |
‘ i o ¥
‘ i )
Corfect Ansiwer Correct Ansiwér ; : : i hdN NSRS
Black sacrifices & 5. with L  If Black dircctly captures: W‘Lh Loy - Correct Answer Wrong dnsiver |
White wmust answer ai . ! Black White will play clsewhere, 59 Bld,ck S Black T ams {o - sacrifice two I Black répl'ays' 1, he loses his
plays elsewhere; he can ¢ capture has 1o sente. | TR ?ji;)nc_:s.,l-lyel_ his connection on the first coraer  stones | unmt,clmu,ly al’tc;
plays cseuere; we oo - : S e will still be secure. White ciouble—ﬁtam at 2.
86— o : =87 —




Correcl mmwa
If Black resisis Whit
connecung at 3 15 the key

Wrong Anvi
I White 3, Black
oul into the conier witl:

Correct Ans:
When Black plays
his twir key siones.

Correct A
- After 1, White
stoncs Imprisoniig, il

i

pROBLEMZT. o

/hite loses

E’ROBLEM 2

i
¢
|
|
1
ol

.5 the t_WO
wck ones.

i s, AN

i
_ - A Conect Answer
umimuanon "‘Aftﬁr 1 White can't stop Black
with 2 Trving to break out with® Dlack 4 _ : 1r0m capluring ! twa stones at the top.
e, and 6icads <0 2 tadder. = - 1 4
R
T
| Wrong Answer 2° ' .
< hreaks. White 1 also fails., After. 2, White COrl’eétAn.swc
"i & can‘eprovent filack from LHL(-DIH” - LI : Aftcr BIHUC Pld}’s hc sacrifices
o . _ {4 : lwo stones thl. ‘the: sc,quc,nu, to 5.
PROBLEM 28 | | : After White capturus with 6 —
-4 ‘. l‘ l- \;v\@ ‘ .
. ’ ‘{ T )&i}ak\,( A o S
- ? Py e

: Wron g Answer:, .
sBlack 1 and 3 let Wiuu, csLape .

wiliy2 and

Comecr Answer.
TBlack 1 is the key move, Black
l{x,g. caplures White up to 5.

4
i
P
i
i
. )

-

AT
e
T

s

AR
LN

N
.
LI

Y
i

1

26

% \

v
T A
8T
A
\J@

§

LCorrect Answer 1

“Afier ‘Black 1, no matter what
Wintc does he cannot prevent the
cgzgture of his two stones

. Wrong Answer E
‘" Black 1 is a crude- movc' Aftcr
'\“ “pite 4, Black has no failow- up :

PROBLEM 31

PROBLEM 32

PROBLEM 33

- Black 11f
with 2 and 4

c

Blitk throws m & stone wnh 7

Alter 9, fWi.i_t
he 15 short of;

_IHI«[CIHOH

Exchanging

'_1 for 2 fails,

will now losp his four stones below.

Blocking
2 is answercd' b
nect because.

J;cht Answer 2
from above with While
by 3. While can’t con-
s short of liberties.

Black

o s T G IS

=




‘Correct Answer
After Black 1, White
to save his two endangere

Correct Ansi
Alter Black 1, the
stones in the center cann

orrect Am
Jumping, ahead ol U
with Bleeic b lmdq 1o

Correct A
Black 1, followed

shortage of - liberin

Wiutc from rescung ¢

PROBLEM 34

R Wrong Answer
no way “Yf-Black exchanges'1 for 2, White
J0es. . escapts into the centér. ‘
“R@BLEM 3.9‘ T l
«Vron‘ol Answer - 3
ar white Attacking directly. witke=1 and Z‘
scape.. ' falls becaut;c the laddcr doesn't work
PROBLEM o e ,
- _ L Wrong Answer-
hate stone Black 1 3§ a crude move that has
fure. no follow-up,
PROBLEM 37 |
|
. D
i i
_ \ . ‘Wrong Answer i o
3, creates a If thl«: piays 1, White connects
preverting “with 2, and there 15 10 way that Black

aree stones. con capture White's stones.

— 90—, :

RIS PR P I T

S . PROBLEM 38

white stones. Rc
: sistance v )
fuide Vll]! 2 1(;

Yoo . . ) ‘. l

-

W : uormctAnswer k
bla v hite 1 1s the vital point. The two
lac stones ‘here can no longe
: “‘VOld cdpture =

1 pngAnswer '
: If Wlixt Uplays 1, he creates: a.
shortage of berties for his stones, so '

Black wﬂ_ﬂ

~ PROBLEM 39

i

; - Correct Answer
"R Attaching wuh 115 the vitat point.
csmtancc by‘thte with 2 and 4 is

B]aék

PROBILEM 49 I ,

Correct Answer
Black 1 seals the fate of the six

_— Q%Answer
ack ' i Whi i y
keep tho ) te 2; Black can’t
white slones on the left
scparated frmthc oncs on the right.

" PROBLEMd1

@
‘ Correct Answer
'If Black s:mpl Wr$"g A”SW
et Blas y plays 1, White ¢
uaﬂ t rescue his six stones. thatAé}:szg_lhli;}; f i:;y; 2 it 1s obvious
faile
l S
: P

— 91 —




) | RN ~ PROBLEM 4
PROBLEM 42 3 el . 6 T .
o ‘; 5 TP " (-
. ¢ leele ]
. oA . + Q-
AT - DBO
L P :- @%gg%g@
. . A . 'l T % A
. —AI WrongAnSwel‘ " ) : : @ . e
1 - rh ) d
CO”;’S‘ Ty anboo If Yilack plays 1, White :“1 :::Sn _ _
%, Black Sh“m Wh't: dags 2, and Llerll{—"J and cyt-with 2 and 4, 1o lL ' ) -
ot o hA“ the o ..i o ' Black »ith an unsatlbfa.utory l’o”um K
‘Black 3 ¢r A 18 the jor L AT
H T : & )
CTT7. T  PROBLEM 43 P - & .
L i ' - T
] A @ ‘ ‘I o ) 3 R . - 7 *'rfi T S
\ z . i.:“ %T a ;Con‘é?irAnswen 7 - Wrong Answer
. \» 9 ]1‘ ) g C;Blackh siloulcj;ﬁrst/&;tach aEd ex- it }i_’.lack attaches underneath with
. N Gl ron Answer Lo T tepd - wit and::3 er making a 1, White plays ‘the sequence to 12
: Corrccr Anver Lo this Vpo()sltgon. 1.is a- pdsswc , wall at the top ‘ht_b ‘can attack the and Black ifinds: himself in an ex-
In this casc, 1\;}‘; juokd l\:: blpolfsl\hzg move. which’ leaves Black at a disad- . Wht?.c Stcmc on {he trcmcly uafgvorable position.
Blabk 1! H‘ lic 0o an[a }e ‘ 5 . ’ R ' I i
~ through at A, Rlack ;. iponds with B. - ; ‘ - g T : PROBLEM 47 1T i
. : LEMM g R I b _
_ PROB ST vt # @ . B r
SN ! 1 3 R I | b L
gl S R T
et gt _ T i I
fie ; e @+ -
S a0 FoTel
norft"“i)' \:;L:, josekd, If _ Rlack ‘L lets White lalttchl‘\:“;;ﬁ" £ : \H@)el iﬁ‘i T
king ab . e : Q 315 nO COmpPo w N e By
\.’\’hﬁi‘( l(-;l :;%A Blaw can block af B.. ner and Bl ack ge _ t 7 $ -1 %—_— R
PROBLEM 43 Lo HNE AP T G-
A b o 0 0 el
‘k‘v\%‘“ b ‘Correct Answer Wrong Answer
;_—_T!;_f’@‘-_ 3 .. Black ¢hould attack with 1 and 3. Moves such’'as Black 1, which is
‘1 ? + | ‘There are many possibilities after purely defepsive, are micrior. In
ll.__ljl:'—» _ Wrong “Answer . : this, ‘but none w;dl be unfavorable for bandicap ialimc:?. it 1 imporant to
. Correct . .nswer ‘Making; “bamboo joint with 1 Blag think {irst icl oremost of attacking
1 acrni A H aking; White,
B‘ocl« ng a;( ilh ;SE:;“BCOWCL ! ' agam leaves; Black atadmadvantage 1 5
. A, Black blovks a1 . o . P




Correc (Answer
.+ Both Black 1 and A are
eprrect. In positions” such' as
this, & 18 iraportant’io think”
of building large frameworks. I
rather than gomg dfter smg,!e
\EOT!LS i

W

"WrongAmwer R e

Trying to ¢atch the whité: « {1
stone with" Black 1" bad. -
White can play A and! B
sente and. even Lnough Black .
“will capture’ the white stone;.
his result 1s unfavorabl

. Corredt Answer 1

Black has many: ways to respond,

but Black L h@ro 15 t.lc szmplest

Correct An swer 3 .
There 15 aiso the soque: nee 10 14

where Black takes the cnmer and

gies. thte. the 0u151de

L "orrecr Answer 2

rong Answer

Black could : also: “play. 1_
. mows 1o White 4 are standard

. ‘b’_‘heuld be Lhe sandard

1‘r$ scc,uence “in this diagr
d for Black ur alm st

| -.;_PROELEMr.S@ .

eg:ute is the'best chome

‘becatise : this movc ‘estab- |

omg‘__,to ‘play' In’ thls
move at _'a would be

s!:rcugthcns' an. °t already
secure: position. - Whitﬁ B

~als0, bad If ‘White - were

going-to play on’ the left side, .

7
\

A
N
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. B ¥, i3 PROBLEM 52
b PROGLEM 51 R P R |

ok S Correct Answer
| Black. 118 a good. move
bbc:ause' it is both-an cxten- -

1 S ~-"White 1 is a good ‘move @G T1+B-
4« o§0 - betause it traps ‘the lone | ‘
.37 - black stone on the right side, O

)
N

S

= Correct Answer ‘ - : L @
©
AN

A

- i i [retrr s o [ A
sion apd an approach move. - : If:,;?Yh.lter were | to-‘play” any == =
, . . PEE. . v i ! . N :
This move. also establishes 2 ~other .moye, @%ck would [T ; 2@
e . Eu . M P el R AR .
secure ‘base at the 1?0“01_? ) Py 2’ and -Whﬁgg.;w_as pre- A - O
for-the three black ‘stones : L viously-aweak Is one; would { - :
there, This is importanf be- © 11 ndwhecome asirgogone. | f= - bttt
cause-White's stones on th’e : i GE §[ I .
it are strong, o Bliek's ) 00 T B B ¢ g SRR el
“two. stoncs al thc' DQLLOID g S e e i e el : . ol " o .
CQPILL‘-;U{M uncier;:gt?ac}c‘r I 5 _ } ::'" ' 7 [ @
. e . % - -‘- N \r (/—\\__ 3 @
' s o %
. [
- T 11

- WrdngA_r? A

“This is ‘ot -the; time for | | )

Wh#ié toinvade -at 1, Nor ~ I
l

i

should White play C,. al-
theuph locally it 1S an excel- !
ler:. “point. Were -White to .| Panin Ll
pliy-either. of these moves, h U R
Black would move. out mto | _| [ | Ao L
the center with his 'stone on 1]
the'upper right, ;]

L

dyrong Answer

Whit, would e gr;dcpful
il Black werg topiay L He
could. then respond: by play-
ng a good alla:c_king move at
cy. Black C 18 _cwtzqn!y a
' good pont, but, it i1ac%{s Lmi
urgency of-Black._ 1 .m the

© Correct Answer diagrim.

=

T
N

o
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PROBLEM 53

Correct Answer -
Jumping out into the cep-
jer with 1 prevents an attack .
:n Whiie's stones at the top.
There are many good moves
on the left side and bottom -

. € nuatton !

Black would‘answer White 2 by
taking three istanes with 3, winntng
the captuﬁng, race by one move.

that White could play, but | -
they would let Black- attack’ |—t-—f—rtiip—e- 3=
\White by playing at'L. . ’ - - %f S
S
- E AL : ‘onngnswer
B &l Black 1, ag the first mave, enables
. ststoncs ware dead,

While to take the vital po:nt with 2,

\h
aag 3, and-again he
ace by one move, stones on the J¢

PROBLEM 55

Wrong Answer

If White were to mvade

the corner with 1, Black -
would play at ‘w, scvercly T
weakening  the five white v

¢ siones at the top. Again, L
white C would be answered T T g

by a black attack at ®*. . T L _ -

€ Of?‘é‘t.‘! ﬁrzswer

; ) Ccr;_ri;iitation
Black Liand 3, White can‘t {f White plays 4, Black plays 5

and it 18 clear that White is dead.
| .

i I ‘
s |
‘-—-—CTJ ¥ (T) @"\"J
- :1 | T Srrong Answer I Wiohy 1gAnswar2
aitaches at 1, White lives Black 1 also! fails when White
; : 4. Black-1 Iooks. like a makes thc‘obwous,.responsns of 2
.- and 4. S R
i | =8 s =P




s ea s _ U
: _ . rong Answer ‘
Correct Answer Blick 1 is not the vital point.

. ills White by attacking at :
D : lies with 2, Black plays Wwhite san now iurn the sifuat:on 1nid-
L s - N . a sekioy plaving Lhe st,qubnu, to 0

3 and Whie s dead.

PROBLEM 57

Correct Answer WrongAnswer
.

1f White tries to get a second :.y, :
with 2 and 4, Black lels hLm with 5.

PROBLEM 5‘}

se,co\ (l eye Wllh 2.

L
!
Vrong An.s wer -

orrea Answer
{f sinek shidesto 1 . White is able’

(o Mmake only oné eyL 50 he 18 dead.

PROBLEM '-9

spam <o he can live with 2 and 4|

P

|
|
|
‘;

Wrong Answer :
. 1If Biack atars with 1 Whate wﬂl

Correct Ansvyer .
Attacking with Black 3 and 3 kills

the white Slones: play 2 and live with Ko,
1653 WG © N

|
i
i
]

- i - _—-—100—‘7

. Black 1 lets White easﬂy makei h:s i

31‘1@( 1 pives White too much i :

PROBLEM 60 | | .

e

r@lms\( L
&0 GI@’“ -

Shadh
R - .“_
el
Wrong Answer

f‘orrect Answer
If Whltc plays on- the central

pomt thh 1 he, can easily live, the wrong|one. 2 and 4 kill White:

G~  PROBLEM 6]

gﬂ;—- 3 __ pryunal
N
| ey | ees
Carrect Answer Wrong Answer

2@; Whlfc pla sq on the 2-1 point —

White captures two stones, but he -
‘the vitaiTpoinl Qf the corner. If Black

White |1 is on a central point, but. . i

:defendshis tWC'

‘makes two cygs

stones with 2, White

can’t get 3 second eye after Black 2,
If White jostead plays at A, Black

: ; ?h-s second eyc by captunng with 3,

_i the corner with 3. plays at 1 and White 1s dead.

;
gt ERR U

L
I

. PROBLEM 62

L e
@r;,

o
Comecr Answer

. White gets his eye in the corner
-when he plays 1. After 2, ‘White gets

Wrong Answer

If White ataris with 1, he fails be-
cause after ﬁlack 2, he can’t get his
second eyc in the corner.

PROBLEM 63 | 'f'

a

s T ‘ ﬁ )fu

1 -+ O % - ng

4 ) S

f‘cf' .. Correct Answer Wrong Answer

If Wh&c 1, Black will take the
vital point \ thh 2, killing White,

o By takmg the 2-1 point with 1,
::W'hlte is:able to.make two eyes. -

|
N
|



S —E S AT SR PROBLEM 67 ™
1 3 AT T - s
. -§. e - } !
-1 o T , B
. £ - R I S O O
S T Tt
“ Y ,,\\&;(};4\ Y Lo
S Py - 1 ok
1 . Q{fj}—\@@ o O G-
B .‘ ; I )% = \g/ ..F-, , - @%@ 2
. ) (. ,‘ V@W@Eu@
- Correct Answer - Wrong Answer
Black lives with Land 3, If Whiie L gt 2
Correct Answer ¥ Wrong Answer - : i . ¢Lcaplires thcifour stones on the right, If qucic ‘immediately cdplurm
If Black 1, White can't connect (1t 1f Black captures two stones with r 1 | 3t Blacl ata Wutc s stones by playmg two. stonek with 3, White throws in
is illegal). He can then capture both . 1, White throws I a stone: wﬂh 2,80 T ER ingjust above 2, getting his with 4 |and destroys Black’s sccond
4 ) ) ) i ¥ . {8 i : et
groups of stones with one move, Black ig dead. o ;z‘“ ‘ | i xR, @c captures them, cye.. e
PROBLEM *eS E’ROBLEM 68
[ -
i N
N
I N g ...E,

' Correct Answer - | Wron e Answer

R

2 : WmngAnawe
Black ;’ og(’ilh‘:nmg pomt for If Black 1, White plays 2' and Sdcnﬁc_ﬁg 'a stone with 1 and Thy atan of Black 1 is too slow.
2 . Bl dek i dcacl L _ gmng ata thh 3 kills the while Black i,oses the capturing race when
making TWO CYES. _ - i L stones thte pia?asci
D ‘ 6 L :
: PROBLEM. SRS PROBLEM 69
S
i
N o4 )(2%1
S r.T(b @éﬁ%}@u)
) i . , ¢ ﬂ‘a )
- WrongAmwer ! S b AL
- Correct ‘%Tsﬁfiwo oplions - Playing: atari- with 1; Eoilowcd by, SRR ‘ Carrecr Answer ' Wrong Answer
¢ ' Fluying 1 gives Blac P 3. fails. White plays 4 :mci Black 1~,T e T e -B‘lack-_ 1 is the vital point, If White if Bldck lets White play 2,
for getting two-cyes: 2 of 3. If White d ¥ ;T 2, White is'dead after Black 3. _ pmmon turas into a Ko.
takes one, Black takes the other. ded | R |
. J . | ]
T 102‘_“_ . ' : — 103 — I E _




PROBLEMT0 | .. L. . i SR |
ISR v (1 0 A i Lo }‘ROBLEMbﬂ - :
| .
: $— :\_;z‘ff
: ) =] ng o
\,orreufimwer Wmnvflmwu : - b BRI X //‘ '
Tamptng with Black 1 15the vital it Blacn plays 1, all his slones arc : N l %‘ : _
Pt lor crcatmg a ko mn the COFNCT. “dead as they stand after White 4. 7~ o L i )
PROBLE B e | -
, ROBL EVi 7% _: o : }31‘ ComectAnswar :‘ w
BRI *‘*““ itﬁei‘;”“""‘ Too poins 2 black 1 is & matk
B | t ¥ tolich. sid me value: it dossn'l White has ten point stake. Alter 4,
b tich-side takes them. White pomts of territory.
‘| A Q_mts of territory.. ‘ 1
&) i :g"" ‘i ) ) . i ‘
Correct Answer WrongAnswar ; '_ E = PROBLEM ’74[
Black 1 and 3 turn the corner into I‘E Black plays -1, White: strikes at | b |
o, I Black wins this ko, he can get  rlne vitdl point with 2 and th,( s i % i @ ;
iy scoond cyc and fve. dead, | : : ) : ée s g %;j T . @ T 39 -
. . ’ 1 P { & O ™ A2 )t
PROBL«.M 7 O S Pt et | GeslLoee |
>, -- SRR 0 RERILL/IN
- ' O ‘ ":%
: .‘ O T RHA%
: : - ': O
- - ckﬁil Correct Answer Wiona E
' - by pla;lhgia:ngaét White’s inirusion . {' Black 1 an&g 3, I:;ze:es i g T
' i ul is four
; , : ' i po s worse than the ¢
. Correct Answer S Altemate .Sr:quence _ . LT OrTeCt ANSWeT.
Jumping to Black 1. 15 the corrcct o White could also pldy 9 Black ... - - PROBLEM 75
answer. After this the sequencc to would then capturc with 3. The result  F
white 4 follows.. . js the same As 10 the «correct answer. i |
c gl ,; |
4 _,._('\@ o |
4—-+— —?‘ — . : . yCorrect 4 P :
Wrong A”*‘W‘ff' 1 o W ong AnswenZ v -Black _.1‘_forceS'\;;§f:r to capture | | Reference Diagram
This resulf is two points worse for” Bloucmg at 1 would rc:‘.ult mas the two stones in the corner if;:mc Bl Iﬁ Whltf" responds to 1 with ;
Black lhan the correct answer Lo hige loss for Blaclc. . e sequence to 6, * acﬁm catchcs, iwo while stongs when
" _ S : ‘ he cuts mth3
_ S ‘ !
weee 105 —
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e 4 PROBLEM 79 43
‘_.J[dk,-)[ - -5 {' i
1085008t G RS
DG AN { b
Wfo”& Answer 1' o L Wrong Answer2 | Correct Apswer 1 = T
"o sequence here 1S two points “The sequence here i-four pomts " " Black 1is the standard response. B ﬂék 1C ;;‘Zectzinswr 2
inferwor to the correct angwer. - insenior 10 the correct answer. - - coE 'Bla(,k plans to fight on a grand scaie. but tlr‘e ?Pmesscoljfstlz: SQZMLZI 'my: .
. : ; - ‘ L - R : move depends T
' - L ' on the shrroundi siti
PROBLEM 76 ue R el ing position.
: Rt - e .
S S - I b g ""COITECIAI!SWGI'_? ;
Correct Answer.. . - - oL WmngAnswer I J 15 the safest respousc i B]u
Simply playmg 1is Whitcs bcst .. White .expects Black ‘to answer- EN sch Yoy gl
Move:, . v :Lh A, but sacrificing with 2 and 4} S
' o hetler. Latcr Black can playA
PROBLE\I( ’?’7 L

e i 2

i

L ; .
I . .
C(Jr:cu Answer : " ‘ Wrong A”SW‘” : : % - Correct Answer | o4 Coniinuation
Glick 1 takes advantage. of © Black 1 and 3 fail Alter R ':' . Black 1.1s severe, It is the stand- - White: can live with the moves to
Wihile's shoriage -of liberties. After  White's group has two c,ycs ; . : : : ard follow-up to the joseki position 8, but/Black has made a big gai
Black 5, White can't connect at 3, ; _ the problcm dlagram S R
PROBLE]Vi 78 1 | .

i
[
\

£
il

‘ ; Reference Diagram : L Wroug Answer
Correct ‘Answer : - WrongAnswer i thte cantrcsmt with 2, since he An cndgamc move like Bluck 1
Black 1 is the most proﬁta‘olc - © 1f Black 1, White 2; This: rcsull s ~will:be- spht mto two g‘oups whun enablés 'Whltc to scitle his siones
" move. three poiots WOIse for ﬁlack 38

Bla(';k;plays*;S; Co : withot gany problems.

107 —
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Correct Answer 1. '
Siciking at 1 18 severe Up to S :
Black catches the stone and gets -
flugnce down the nght sxdc.

Correct Answer o
x 1 15 a brilliant tesuji. Black
nol Unly
fuunches a 50\'(,1’6 attack on White.

“Correct Answer
" Black .1.i5 2 tesuji.
Black catches a stone m -’

with3 .

I Black connects at:
ff ective’ {ollow~up after White. 2 ,

[akes ~ profit but . aiso -

White 2, -
a_ 1'adder' L

1; he: has no

&

stqncs on thc r1ght Wi

?R(}BLEM 82 -

f‘arrecz Answerz .
“If White 2, Black plays 3, calching
.stong.and leaving “thy, four
thout a baqc

‘Reference Dmgram PR
If White resists with:2, Black cuts.

‘off and catches thiec stones with 3,

PROBLE‘ W83

G wita2 and 4. This Is bdd for Blac'k

"'.\

buﬂdc a posﬂmn on the nght up m

Reference Dzagr m\
I White roplies’ with |2,

Wrong Arswcr g _
1f 1, White captures two stlom:s

1
[
1
1"
I
i

white: .

[

D
OL@Q——%@%

S . uorrectAn.s'wer

S B aI‘he clamp of 1 cnables Black to

b kecp th[e conﬁned to the bottom,

e R, ’ i :

‘Black 1 "fclps White to defend his
j‘cumng po;nt with 2

| i |_’_‘ _____
— v
i "\! i
T T -
s d A 1
s Correct Answer

.ust like in the precedin,
: o prob-
le ‘.;;;Black'll_ 18 correct, Il White 2,
B_Iack_:a?gl‘xes_‘_pressur_gé with 3.

PROBLEM 84 |

D

2080 &
%CY—\ - *f%ﬁg‘: o

] [
oo || 1 :Wrong Answer P
Blhclf 1 allows White to move Oul ‘
into Lhc center with 2.

PROBLEM 88 | .

|
O @

@

; Beference Dzagram
'Bla ck’s po:;xtxon 1§ strong, so-
. Black Fl here is also a pood move.
"; i i
0
heo

A

&

——@—@é N

; 1
A WrongAmwerB
Black‘ 1 s also bad, It
Whjte o §trenglhcn his position.

1

helps :

E’ROBLEM 3(, e

L

i

I

|
L
7]
1

T

I

Wrong Answer 1
As lbeforc Black 1 15 a bad move.
{ T?ze answer to this problem s
conrmued 'on the next page.)

|
1
|
|



g

L RS TE SR

s Wrong Answ? 2r 3

Wrong Answer 2.
Black 1 is (00 Passive. Black can
- pow take the opportunity to gtabilize
his position at the bottom with 2.

: .L{(,[endm&, p the cuttlng pnmt WJ.Lh 2.
i

PROBLE‘A 8’7

3

WrongAnswer T '

Blabk i
.'j posmon to 2.

Since Black has a strong posmon
on the left, he cant jump aS. faras 11T .
White 2, Black plays 3. 3, 1f ' White 2. at it
3, Black A. 1 If White 2 at B, Black 3.0

PROBL}LM 88 :

. ' E
Correct Answer “Wrong flmwe

Black -can take profit by playmg o
the moves 10 5. In soma-cqsgs_, Blac! k. wca}: pomth ) l
- ymght play 3.8t A 22 at 4 i
‘Black 2, Whltc Black i

|

Black 1 is almost: meaﬁmglcss
Whttc . stabilizes - his - posmon by -

lets Wlutc cxpand:—_'his ]

Black 1 lets’ Whlteidéfcﬁa‘his?

FRETEE

R

Nty i G e

ANRLL

TR e
PR BT

all. blaclc _sto;}e

‘iattacic ‘the Lhree whuc
10 b},' jumping to A,

PROBUIM gg!

L

PROBLEM 90|

e
!
A

TTT 11 A
! 1},4’2!

SHol

by |1
ERN
N
.
s
Mongxinswer ‘

' Black 1 15100
Blac] passive. Whiic can
stabilize jis stones at the top with 2.

Black |t a4t B is
Fp ok nE g as I
it is inferior pocial strategy, bl

U IROSE CASES.

A}

i

' Comect Answer

Correcr Answer

Bldch ‘1@5 the tesuji that ensures
5 will be- councctcd

Black stnkes at.the vital point
vith 1 ting ‘then. robs. White of Lis
s with 3 and 5,.1f Whlt(, plays 4 at
Biack plays 5 at 4

ST S S
iodr

.

'1‘h¥-=

PRGBLEM 91

’ ‘1Wro.'u; Answer
dtari of Black 1 fets While

1solate th”‘blracl( stone on Lhc, uuht

g 11-3%;

e

g
?r-

8-
et

I
al
.
'E

‘1
- 111 — i

Qe
T@\-,

K
-+

|

i

L T N
Wrong Answer

Black]l is unsafisfactory smcw H
lets Wkutc patch up bis defeer Oy

pldymgf ati2.
[
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PROBLEM 92

Ihun
sy
: ‘-‘Ml w%@

Correct Answer Reference Diagram .~ |

If Black 1, the five’ whife stones in
the center become weak after thc ex-

chang{: of 2 for 3. \’

the corncr w:ll be capturecL

i L

! &y
R
o8

Wrong Answer 1  Wrong Answer 2

Black 1 enables White to make a
strong posmon 4’or Ins sloncs with 2

PROBLEM NIRRT

bm 1t faﬂ.a wn,h the moves to 6

f

- onrmuatzon

" Correct Answer ..
White 1 is the vital pomt. Aftcr"-:

thg moves to thte 5 -t

SRS

IS

A

: Wrong Answer A
1f White/plays the moves 10 1, he

otill confines Black but cnds in gote.

Wrong Answer 2

%, he has failed to conﬁnc Black

- White 218 unreasonable. Black -
‘plays 3 and the two. white, stones m -

S
i a1 B

Black 1 aims to link up al stones, . . -

Whlte pldys 7 and 9, conﬁnmp
Bld.ck to the !;op and. endmg, mn Fentc

Wh;te gets ‘sente with 1, b‘ut a[tcr

'l

PROBLEM 94

I
o ~ s _
¢ COGS -
FO16--OOBSB o
; TT90178.81 10
5 : s : '
R -“Wlnte,‘must ﬁrst i o -Wi’ongAnswer
%‘n-!&hen i'orcc uB}ack to I::zgll}rcar:gci gooac;limff y [I;)lllaﬁ]g% p e B e
' tones'*:'wi ¥ [quah. Black plays o
Whlta caﬁl }lmk c111 7. “fgls;])un;, done, Whitc A'is not a liu'ea? t::yllzg ,b[:]::;i
tm: comer l;,ypja p o hhis stone 1 stones on the right. The two wltlitc :
v ying stones u? the corner now die
s ! . RS ’ '
PROBLEM 95 |
T
e
: o Cantmuanou
White attacks with 1 and. 3, bui .
Black coumteratiacks with the mowves
to 12, All hls stones aré connected
and be cgm eaglly get two eyes.
) il % 204>
- e %
|-
7 1
. H o1
i %ﬁ
| HoF

o PWangAnswer 1
_Conncctmg at 1 myvites White fo
slide to 2. Black must still struggle to
., make two eyes.

2 and 4 hc

} Wrong AnSWer 2

st

|
If Bla,cklplays 1, ther after White
ill doesn’t bave two eyes.



Correct Answer’
Because of Black’s ex-

~ tremely thick position-on the-
left, While should extend no

PROBLEM 6 [T %

farther-than 1.

Wrong Answer
~* Exicnding as far as 1.{or I~
‘A) invites a black invasion at
2. White will be.at & disad-.
vanlage because of "Black’s
thick position. :

PROBLEM 97
.Correct Answer .
Black 1 aims at two cut"
ting points, 2 and 3, 1f White -

5 at 3. Black cuts at Z and " _i
* caplure four whitc stones. .

Wrong Answer :
©1f Black plays L ‘White
can connect ul 2. Black '3
now fwils to capturd any
white slones.

PROBLEM 98 |

Correct Answer
Black can defend his ™ P

Wrong Answer _
Black 1 is & strong coB-

gote.

@35 1o §aéfi_£i<’:jg§2,_1wo stdhes to
N buﬂdupthg%ness and'make

- for White
7 PROI EM 161
R CorrcctAnswer

stones at the bottom in sente ‘
by peeping with 1 R

wection, but Black ends 1 G

< Correci Answer

ite: 1 ¢reates a ‘double

hreat: If Black 2 at 3, White

-plays 3 at 2 and captures the

wo black stopes.’

. Wrong Answer i
~White 1 tnakes no threat

against 'the :-comer.. - After

b

Black- 2, White has. ro foi-

" PROBLEM 100

o Come;;t Answer
- White - fifst plags "1 and
then cuts v-ﬁt%3 His strategy

Py

P thtcrq’;xgluldbc careful
mot-to play] 35;'g1Th13 will result
in a slightly tnferior ‘position

.- Black 1 ensures the cap-
. ‘ture of Whitg’s stones on the

*right. If Whitg 2, Black cap-
ures -five: stonesafter 5. I

The order: of moves is

I

im :'qftant.' If Black plays 1
first, “White,. saves “all his
stongs when he plays 6.




PROBLEM 10 PROBLEM 104 \ o

’ ! Lo

; OG>

E Lﬂﬂb@(’\@ J@ o

1779%68-8 -
S THEER HHEEER

.S e -Correct Answer . Wrong Answer
) ‘Black wedges in with 1. Alter 3., - Black 1land' 3 are artiess. White
thc three wlntc slones cant Cscape. confeets|to the outside with 2 and 4.
i .

 PROBLEM 105 |- |

. Continudtion :

Correct Answer - d E .
ih cye’ N o
stone with L. White- inust make his sgcond; ; = g” y
dBlf;:::g 21:})‘\;5 .xn a. :7 T yitheld, letting Black to < pmrc four. Sl - E'. 9% )@ ; |
an a ' ‘-_whxtf‘ stone-s. - tsr a : i T @@ d ‘rf@)@zL
Y cct Answer R /VrongAnswer
“ he only way to capture ~ Sacrificing with 1 may seem like a

tesuji; but the pps:tlon is now a ko,

o T 7 WrongAnswer'Z .
a8 i : sl gets
it Blacﬂjr?n%\ﬁtiwia; easxly hve ‘ Black 118 too; ({rugﬁg Vgﬁé E:;:;l LU :
. eye shape b snan eren L LE '
with 2. The black stones abovc"art‘» ‘;Y shape bY o PR Conect Answer i l Wrong Answer
now 1n for asew:re ﬁght W NE Blﬂck 15 is' the- vital point for Black 1 lis too slow. After White
paratng thé three® stones at thc 2, Black| can no longer rescue hxs

‘hottam from the ones ‘above. ‘ stones to th& ng.ht

PROBLEM:103 -

I’ROBLEM 107

,fl
1
N
T

S-S S

Wrong Answer

o B e
_ _@;@j@
:__H...

Correct Answer _ iure l Wit e . | ‘ '
. ack- cantiot - capty o 4 ; g
_ L connet‘ts 1 mﬂ?(}ut first sacnﬁcmg' a stom?, ;& . Correcr Answer L a 1 WrongAnswer
. Black: throws o d. stone Wil h1 o amshows' o White: captures Black by jumping - White: 1 is an artless move
tis & A .ahead Wlth 1. Up to 9, Black escapes. White’s position is now hopeless.

.. “'and captures White tnmug‘n a scnes_. . RER

" of successwc atans g |

-~—117——-




T lee:
. Wrong Answer - :
Black 1 and 3 are artiess moves. -

W‘hfbtc can connect to Bis outside '

B P : .

el

,;glé&i{cgorrecmgme{ - . g .‘.E‘:Wf(mg;‘lns-vlr
) %;1 gf\pt]z’rc Wlulc with the If %lapk plays 1, he bus po ivllow
Black’s cight stones 1 -up aftdr White 2 * s 1o Tuduve
koAl “now alive. If White'2 AR 0 T

atches White with 2, ' o

_ orrect Answer .

-By wedging i with 1, White- can-
capture. thre¢ Stoncs.: If  Black 2,
White 3 and 5 biock Black’s escape. )

PROBLEM 309

I
A
]

stoﬁ‘és with 2 and 4. 1

© PROBLEM 112}

GeeOT T

" Correci Answer - _Wr’o;ngnswé}z DR !
i cutting if Black plays 1 and 3, White will- g
| i Continuation

Wedging in with 1- and

der of moves by ondl' move:, '

two stones with 1 1s a " Black plays 3 and 5 anc captures

Wi the capturing race
ﬂfhe:i White capturrs

afer he plays 4.

cing’

i m

:"b.rilliant mo

with 3 15 the correct OF
{o capture the four white stones. .

_ |
PRBLENie}mf o 1o

. . !
P - 1
Pt 4
& @-.—--
RS gfg, -
g - (4 e e . - - : i ‘:
. i . : s 2 !
Wrong Answer | " L Correct Answer - [ :
e T _ © o Wrong Answe
The attachment at I is the vital i Wh&fe? can cisil;ézigap‘ o th
. ! SCapy il [+

o Correcl-Answer S . ‘ IR

Aftaching with 1 is the koy move. Sacrificing with 138 Prematire.
Théthree white stones will be cap- - A1t of . White's _stones.mowpivc, 50
turcd afier Black 3 and 3. o -seNeD black stones will e ca;%turcd' T

O 118 B %L :

-

poisit. If-White Tesists, his stones arc A :

pOLAL, L-WWIIEe TESISTS, fus out Black plays

captured witli the moves to 7. . Sldc\ if Pldc}{ plays L.
!

|
: ol
—119— o
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S
pe-

. .
e R
ps =

il - - 3

P

uk

MNP

Q ___,,4.“._.) .-. T .,“. e . a

) oy Contmuat:on J s
Cor*‘ect Answer ence
Playing 1 and 3 i eithes order is \;\’hlie escapes with ‘he sequence:
correct. : Sl t(‘]
A b
wa:-,)]I_ B EE
Y by
e
"

+ t
L,ontmuaﬂon 2.
11 answer to 7, Black might play

8, but W‘mte r*scapes up to 1’7

b
‘w

X Wrong Amwer -
White fails to escape with 1and3 - s
ucre as the contmuatton here shows _

Contmuauon :
"~ {With the moves 1O 9, Whlte hat
Hroken, out of Black 5 cnclosurc
. O @-\ ._141 [
n \ ’13)@1”ka \
—i-

i@
f(g(;)‘ ’ITJ‘@E@? g

Comect Answer. o
“In-a svmmetn&u posmon play
on the contral po;nt' Strange ‘a8 it
may scem, thln 1 15 the only movc .

m

T S s

Contmuatwn .

- Wrong Answer T moves 10 Black 20 snow why
- Direct . moves, such as. the; ones - Thcsc Jast two problems %na lf{rmn
shown herc, il © - i classxcal Chinese prc‘blemn 00
' B &
— _120"-%—* : |

o

]_ 'PROBLEM 116

:‘Black 'pan sactifice a stone with 1,

. ‘force onci;: .W1th 3 and then play 3.
: ’Tlns result' is advantagcou‘; for Black.

Reference Dmgram
- Depending on the situation, it
may ot necessarily be bad for Black
to play 1. White “would get the corner
and Black outside influence.

PROBLEM 11

—121 —

|
i % ! | Ly
CozrcctAnswer _ Q- ")——\-T—@—i.——. (1) Cl)— —Ef E”’——
_Black expands his right- : 1 @
! sile territory with-1 and 3 7| PN T
,.- while attacking White’s base. i & !
This position is- reached in - 1 ERERNE
the: famous Chmcse Open- . BN
ing, al
ded @@Q_ :
‘rong Answer L q)@j'l_ |
__:Blacld‘ ;,!enables ‘White to O ,L
- [ i o
T B hd
T8 T
> |
Correct Answer | Wrong Answer

o !

i
7
|
|
|

| Correct Answer 2

If Black wants to dwdup 4 DOst
tion all thc top, he cun slust wi{h 1
and thy tne moves to 7

S Wrongﬂrmwr

Black lives in the coruer with 1
and 3, but White's ouiside mfluence
leaves lT'lck with an inferior posiiion.

-

|

'
L

e
|



PROBLEM 118

Correct Answer
White must defend his
. corper termitory with 1. To
v see why, ook at the mext |
" Diagram.

»
LY
¥ o

“Wrong Answer

e i the corner

" Black can liv .
with the moyes 10 10. Whate
1 in the correct answor

resuits i MOre. thay 15
. points ot white terrdory- In
this diagram, e siuaton 15
reversed, and the bafance Ol
terntory 15 NOW 1
favor.

" If.White extends (O i

n . Black’s

PROBLEM 119 . -

* “Correct Answer -

~ - In the'opening, there.are
-+ certdin-points that'have to be:
. played:before:taking the big’ .
.7 -poinigron ‘theside: Black 1
(s weil as'3) is a typical X

ampiez Thess two moves give

Blac'léfi; ‘a huge - territorial ..
- framework - throughout : the -

center of the board. .,

ol

o f. If -_33.13.{;1{-2"i‘takes'i |

‘White 2 flattens oyt Black’s -
territosial - framework. This
move- also expands i White’s

terntory , at the. bottom. It

. “should .be- obvious now that-
this is “ibe key poi_ng*o_f' the

whole position, - |

®

pomnt At the top%' thh 1, |

ST
- \"lx
-




. pROBLEM 120 *

S :Correct Answer OBT
- _"Black'1i-a strong move |- 6%—@

4’ Black stones at the WP with |
5 1, pwumng them agamost ‘his - ot white stonés
i g » g “z:whitg wstones’ on Y
i strong positions. On the right Rl Whﬂe'defénd?n 0]’;1 tt,c 1Cf;t’ i ‘ |
o loft, Whichever of these ' g Black's posi- -~
o stones Black chooses to ' ‘é ;
delend, tne other will ‘come
unger a severe attack.
3 , ;
- WL : I
ey
el Tel
i San

|
o
&

)

'_“ g 3 @r‘) __(:; | e | :-
*Insomejcases, Black 1 [T T A "

'~ Iwould be algood way to al-
- tack the two .white “stones. : - e

: Here, nowever, White can
" nvade vmh 2, severely at- i ‘
strengthens, bis thin. position - - tackin Black's two stones at | e
at the top with 2. S BAE _ foo thg bOEtOm, Therefore,, Black ) | : o
Locally, - White A would = i e —1T Lis i the Wréng direction. - i
be a good move, but. 1w this - i
position it misses the point:” e :

Wrong Answer
. White - 1 provokss Black
{o play -a: mOVE which

et 82 A e

Y

A I TR
'

i




- pROBLEM 122

> Correct Answer

Fitory versu

put .a .stop to Black's

the moves from ifoS.

‘not.

' tipn here, SO
" jeft until later.
- White Bis @
“but if Black w
play A, his tery
work on {he It
come amost wnpse

This 15 2 game. of (€1
rsus influence. The
time has come for White to-

fluence-building, so he plays

"Wrong Answer -~
White ends |’
. insente, White~1 and 3-aré:
o rocommended. - | TDest
" moves’ thicken: Black's posi-
tney are better

m-

"These

good point, | 1
ere allowed tO
torial frame-
ght would be-

o able.

 i@es in W’hiﬂt&"s"'"building up

T  Correct Answer-..
Cie White® shogld - build a
- framework: on the right by
;\_p}ayiqg_ at 1. To see why this
30OV is* important, - ook at
g the next diagram. .

i

L WrongAnswer

R If . White slides to 1,
- Black’s st_ropg-éposition at the
“top makes 2 § good inVasion.

- The key toivictory or-defeat

- Chisiright side’ with: 1 m the

- iCorrect Answer Diagram.
e Uit White has - rein-
forced his mght side, an -

-+ yasion-at B isf‘iinrcasonablc.-

g




Con"ec! Answer _ o
The moves to 7 show how Black.

_stops thte from gettmg two eyes.

Correcz Answer .
The placement at 1 hits the vltal
pomnt. Alter 5, "White 15 helpiess be- -
cause m o shortage of hbarttcs

58 Black 4,

I’ROBLEM Zf

Correct Answer 1
Black 1 1s.the: vital point. T t'thtc
2 Black 3 kﬂls Whltc. '

PROBLEM 127

Correci Answcr

Black must qmﬁﬂ}' pull bad"

1. After 2, Black 3 and kﬂWblte. : 'r""or Wiite.

“Wrong Answer -

- Correct Answer PR
. Answering 1 with 2, makes 1t eve
causcr for Black to kﬂl Wute w;th 3

‘ WrongAmWer I
o Aganst 1, White 2.15- a0 effective:
jrcsgnnse After 4, Whlte s alive. |

white takes the! V1t.1l

ot himsclf with 2. 1t is mow mapo
S1b1;‘, {or Rlack to kill White..

2 . WrongAnswer o
vnth o Thc atari of Blackimakcs it gal

_Thc_ hape of: 1,

b |

Comzct Answer

followed by thz

ld reverse the ordc,r ol
Whlte 3 kills Black.

PROSLEM 130| |

J@

Carrecr Answcr

. _Vvl:ute 1 is-the key move. Black
destroys White’s eye: above, but the
suuataon becames a ko. »wth White 3.

PROBLIGV 128

LN O PR, S

! Contmua!zon 1

seals Fhe fziw of Black’s stones.

§ IJL' \'r%).(t).l .
| . AT '
‘|‘.'g " "'Jr)‘"!“ S 4
: WrongAmwar

playmg'%
o
PROBLEM 29%‘ o
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L | Wrong Answer

ally }xas;i o cyes after he plays 4.

{

l
[
L.
|

H

|

L

1

1 Wrong Answer
It thte ‘makes an eye with 1,

makmg'a second eye at the bottom.:

If B]ac}c continues with 4, White 5

If thtc 1, Black easily hvcs b" |

White | 11 fails. Black uncondition-

Black 2 kills any chance of White’s
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- ?ROBLEM 1319

"'.l'

i
: CcrrecrAmwerz
o 0 capures fourstoneserz
i Black answers with'Z, Wlhite

“Correct Answer 1

If White 1, he can force Blackito ..
capture the stones in the corner with -

3 and. 5, then. make h1s second eyc-'j-._

Z .Whﬂ.‘..{ can makc his. sccond ‘

Wrong Answer 1 WWrong Answer 2

If White 1, Black ataris two wlutc
stones with 2. There 15 DOW N0 Wiy ..
for White to make his sct,ond ey(a.w

Wrong Answer I i

~Correct Answer. L
If White 1, Black atta

“White 1 cnables White to live. He
is alive alter 5.

|
|
WrongAnsw;ar 2 : aL ’

Continuation. S I
If White resists with 5 and 71, . Whlte 1. here also f;nls
moves to BlaCl\ 4 shows...

Black 8 destroys White's eye shape.

|

i)layf 3 to 7. Black must dcfcnd so

‘ tlc original |
l‘ White 1, Black attacim from the -, . - .giersist, the g
other side with 2 and 4. ‘Agam White -+ T

can'i mahe 1us second eye. | :

c,ks thh ‘2

2y muarton 2.

: Corrcpt Ans wer-

*9*’ Blaczc must first play-1, linking up -

. A'fter‘ Wth(.. 2, 3 gwes

"so Wmtc 5. stones wﬂl die...

PROBLEM 133

Next g i

b' "s m at 4, rcturmng, to -

thlcm 134

gornereyes w-lth'2,._131ack ataris with

o Gontinuation
: Black] |

-

kesotwo stones with 3.

i .IffrongAnmer
_ If Blagk iconneets a1, White 2
pomnt uukidle, so Black is

Ci(,a(l

. lContmsz:mz i
- After ulilthe liberties uv(, fifled,

-you can cleatly see that Black really

does have 'tWQ eYyes.

| e
Q@%@%V

A J\2'

e ['WrongAnwer
If Blac 1 Whnu 2 kills all the



PROBLEM 139

(]

 Correct Answer e WFOHEA”SWE’ ' : ' < ' B
_ After Black'5, White finds that he" Thf: order of moves 1S “nPOﬂ'mt AR " Connect orrect Answer | Contmua
can’t comnect ‘his three: Stones, be- as *is diagram shows. After White 4,0 - oo rect answ ; I?\% by B@Ck L the €0 Thésc" mo“’r o 1
causc ne s short of hbprucs i .s Black that loqcs thrcu stoncs ) : er ext T s¢ e o e
| | l ’ cure, Axs not sente for YWhite.
- PROBLEM -!.36 : 1 l
R | ghi o
‘ AT -
e he o
| MEbe o
i L ; S
ConcctAnswer o . S WrongAﬂswer e B ‘W k MR
Biack 1 is & standard tesujl‘ Afier .Agam the orderof moves 1§ 1ms RS 1 {pn‘?vﬁ::sngzr : ' l W’O"S Al‘l?'»ww”v !
5, Black captuses three stones onhlﬁ- g“i‘tant as you. can Se¢- . fropn. thi’ B8 2 8. now sente If, Black 1, White © i sente,
: ‘ o B R RO T ' - These wa dlagmms o ety
L ) . ' - o Y pu
" PROBLEM 137 N
Bae,
S
@@@@@@

Contmuatmn l

“Cérrect Answer - .- ] ;

Whm: first sacrifices two- stones Wb_te sacrifices azother stone I Correct Ariswer ‘

with the moves to 3. After Black cap- th 7. Adter White plays 9, itlis clear | Lt o . Black 1i the correct answer. Tt IRef erence D!(fgu e

3 Ao Uaat Black ioses the capturmg race: [ERR e thid in the next dingr e Whluﬂ Land 3 end tu e, But —
: 2 o ‘,f aIms., S ; ‘. . + I

tures with 6=~

I

. : . il

PROBLEM 138

' \ - -2 -ﬁlj—
: WrongAnmver : Reference Dm. iLg
oram 2 !
1f Black starts by: ﬁlhngl an out: ; Black 1 . | Wrong Answer
¢ and3 are sente S0 B!ack 1. Black 1, While 2w - wic

Blackc ' is the key:

wmthe captlmﬂg race T
scnte; This: s & lotr-puaa doss T

Black. - |
— 133 — '

-=s1de liberty with-1; a ko results a,




'PROBLEM 141: 7"

Correct Answer
"The diagonai. attachment, -

of' White 1 and the following

- moves dcvastate'Black’s ter-

“ritory. ' .

7- Wrong Answer
answered by 2

incursion into
mitory is mmnnal _

PROBLEM 142

Correct Answer

both 3 and @+

Wrong Answer
" Playing White
artless. White now
fective follow-up.

\White 1 and -3 care
and 4. White’s
" Black's ter-

* \White 1 threatens o play.

1. first s
has no ef-

LS

[

TR Wt

S
cGonkinuadon |

‘The next biggest poini u: ..
The game cpatinues with ¢ .
to 22. White has 45 pous
ritory, -wililé Black hus
White wins by 3 puasis,

brthe biggest - move,

iin"double sente. After

T ol
g
A 1
k- .
o T
& ’
% I
b\ i
ra \ ¥
- : PO
- = e
\'f_‘ S— 1;,_,,
(o ! e i
‘5’/ vy oo 4@@ AN

| Wrong Ansiver
At
If White : comeeis wi
plays the sequence to & i oo

T Ene a
G E’a_ntmuatim 2
" Jgnoring White'1 and cutting with
.will not-change the result . the
receding - diagrany’in - spite of = takus the pomt 8. lu his <.
White’s - incursionin-the lower left - Black whoiwins by % Lo
corner. Check this for yoursell. ' RN

pet
i

it Lyt
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“Correct Answer, : _ Wrong Answer R o T
- 1f Black 1, White ploys 2. Thereis = 4 ) B Correct Answer

_ ST B “Black can live by playing 1 and 3 L owatk

' T e Black i-dou hite &

1[ Black plays 1, he’ will hve no
o MO 10 way that Black can hve

matter how thte atf; acks
Bldc}» 5 .L( i pre v

PROBLEM 149 e

|
t | 1 \ua-..u
T

P l..|,| Poa -
A T O

l i i o |

N A

| H R

Correct Answer

faan Live by playing 1 and 3. w0 alti

I’sla(,k borusuits

e
Whrw plays

f”mrect/lmwer
lack 1 ;,uw vital point. i€ thtc
Lt »r,r 1f White 2 at 3

e Wrang Answer !
Plack L here may seem cqmvalent

-',') Black 1 in the corTect answors. But:
P f;:r

lr* LS
Btk al s iu,r ks, B0 :;umm Tthers s L8 grf,aL mﬁgrcnc,. .
fataws W-int,g ;1;!,.1.51'.',, ack wxil live. . . White 2, Bldc,sa i5 dead ’ - PROBLEM 130 | ¢
PROBLE‘“:I 146 R 8
e
R SN
- i i ‘ . B
. i Wrang AM'WGT : Blal:k an live' by playmg,l sed 3. i Black T e ‘ *:it.:;Zl
2 If Black plays 1, White}2 Y - _ 4 Note Lt s b e 5 na
White 2. at 3 thk sull hves by play- result inako. ‘ A _ =_Wall(: nol s 1) live
g at2. R BRI e 3 - 2
.7 e PROBLEM 151
o :
“y ; : ;ComactAnswer o - R i
Qmect Answer : Reference D:agram I Blaclc lives by, piaymg 1 and 3. E t11121?.tflt:'- S e
-Bla’ck: ',the most. proﬁtabl way thk can also Jive; with 1.and:3,; s WL & GG e e s
P to the prttut.eg -
% Wlthz . T
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Comzct An&ive

Correct Answar
;Black. 1 is the "move:s
Black’s shortage of hber

catchcs two stones wi

E‘Bl'ack 1* gves him ¢

Black lives by playmg 1 a.ud 3/

Cm:recr Answer 1
l

g

% Corrcct Anmer B

'y Doscending to 118 the only way. -
b . Black can bve. 1f White 2,1 Black "
mrE ith3. and hves.

ejas and

"Wrong Answer

 Plack 1 fails: wmwa;;aa &
atc 4 *"hortaﬂc of hberncs fex: Blaclc '

£ ;Bléf'k plays 1

besties ~suddealy bccum

ihen _Whlif' plays 2 and 4,

Wrong Answar_
Blac&c can't live i
Wiite will capture these.

by p!ayuw 2 and 4.

lack canialso Tive 9

that gwc Black two cycs

Wrong Aﬁ&w‘er ’

he  lays

Cbﬂectfinswe :

Tu.C-SC WO IOVES” are thc £ .‘

1
i

the Wh“ﬁ Smmxs by

L
I,:
1_
| :

g
2
9
S
-
-
=
c.;
-l

t H
SR
SHEN .

:

|

es

. If‘Whife | plays
dead afier Black p

fr.

X Wlule pldY‘ J,. N
hlm by PIJB{HI&, 32 Gl
T F

Coﬁnéctmg at: 1 enabl .
s Whitc to
“if Black . 2 at-3”'Wh1te 3 at 2.

e

White gets two gyes: with'1 and 3

s stone a2 cannot’ escape, . Whnc is. nohw d d. .
cl

: Wro:ﬁ. |
o Vi (‘)“ ua:.‘.‘
+If :thte plave &, ..

r
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PROBLEM 164 -

1 T T1

. Lt 2HO+OT 8
& *FE | i | Rienisan )t
E e ﬁ/“),lr) Answer : . : _— ’ L-l')rfecf Af"swer rQngAnswer
i e vucfinawer ! Mo 1 w;mv plays 1, Biack kills him mBlack first plays 1 and then 3. There isi no follow-up to Black 1.
pre White Sives bY playing at 5 pldyll" o o White can't capture 3 without losing Now all of lack’s stones die,
matter hw he thachs there s DOW Y - R . bvgrof hisiown stones. If Black 2 at 3, ]
B powav (o ki Whie's slonds. _ ' o S A White plays 2. - __ : ‘ :
) K .. [
s Tatraan P - - i
r PROBLEM 161 — : PROBLEM 165 |
- 5 R . [ ' T
& -} ‘ - rtheele N
| 3 ’ otorerle e
T i - ITTTOOeec ~~r~-+l~ FOOBS -
b po e T - j: "{':I:""'%’Kgi} j '{' ] !\,)‘(3\ -~
- e - Reference Dza&mm . K T T S
: (*urrec! Answer . b Two-other ways for White. to 11w.r<T i Correct Answer - W" rong  Answer
One way for Whiic to e 15 by o 13), 1 and 3 m either ordcr i _ he ouly way Black can hve 18 by Black : 1 looks like good shape.
playing 1 dﬂ(i 3o is » = Pldyiﬂg L If White 2, Black. 3 but White kills Black with 2 and 4.
SRR PROBLEM 62 l é»é@ -t T & |--i}]+. PROBLEM I66
Be-7S dnal : o [Tees
UL el L i DS
L S B L S T ~ong Answer - L o ‘
3 Correct Answer 1 \White 1 1a3!1gs 1, Black can torf. CorrecrAnswer i
! Becgnse White’s two stones have s position kin (o a ko with the se- - B;aclc can uncoenditionally five by If Black I,L the posmon turns inic
S te this - p : I t1. ‘ a ko when White plays 2 and 4.
;) twq_ liberiics on the: outside, Whi qucnce_t0'7 | PaYmEa a ko when [l :P ¥s 2 an
R R - : i . ' : g
i can ffve vith 1 | R TORT ;W J OrbCy J PROBLEM 167 | | k “).‘.';.4__ ) ’
e PROBLEM 163 | e e 5
L ES ! - = | 1 = -
i S SB e 's I
| T sk Lt
i L . i1 e
W gn swer 1 ' Correct Answer WrclugAmwer
: -~ ron, 2 f1 Il Black alaris a stone with 1,
: Kills hLm Bl ¢k plays the vital- point o
Correct ﬁrf: e:toncs have it White plays 1, Black and then makes two eyes with 3. White takes thal vital point with 2 and
Since - Whit® Sm: oulside, White with 2 and 4. 1 L . Black 1s dead. Ff Biack 1 at A, White
two liberties on - 2, S ' A 2.at 1 and Black is' deacl
ath 1.0 Black i .
con get two LYCS W it . L
asilly L\u waLhB R
White easl - 141 — 1|
— 140 — !




PROBLEM 268 .
- : 2 ém y
" -[!‘Ré-)g( @ @g{ b
i :
i - \'_g )@? -!' f g R

’ronzrﬂnswer
Hack Mmu()t caplure s stones

'-JUNLH .fi.”‘ W Vi

U Glack nlays §, lollowed by 3,

Whit #ill have 1 gve up three by n>' uyse 1 first, While it counect:
gtones witer Black pioys 5. winh 2. itk 3 will be Ld‘)lmukl
PROBLEM 169 :
{ EH2IA L ENE) . 3
(Bo8aC
ER )@ , ;
) - . i
.; t
T ./\_j‘\ l 1

- WrongAnswer b
YIf Black 1, White takes the. \ata’
_ pont with" 2. The black : tonus are;
0w dead.

Correci Answer

Black 1 is the vital point. ‘When
White ataris with 7, White cannot
rescue his threc stones.

4'- PROBLEM 176

- Wrong Answer : -
“If Black 1, White kills Black withl
- 2.71f Black takes a white-stone |with 35

- White kﬂls Black by plawmb arl

T

Correct Answer
Ylack can live with 1 and 3.,

PROBLEM 171

Wrong Answer L
. Black dies if he caplures,
Wlth 1, a3 the moves 10 W hm, 4

orrect Answer
Black can live with 1, This 1s.ex-

actly the same’ kind of move as in the
pr ceeding problem.

4%

la: stonc '
sho™.

|
1

oo

&

(2
B
. : %@{L/{B_
: Conect Answer :
Black 1 15 the vital point. If White
2. Black ataris the thres white stones

and g:,ts lus second eye.

foi Ybn

S
P

&

-

4
|

8

"‘f@@@%

NN

¥ L WrongAnswer
Black plays 1, Whit::

5! eye shape by playin:

Blacr

PROBLEM 1T3

BlaCil .iécts two evcs with 1 and 3. i

| If Black connecis !
Note that;White can’t capture the plays| 2 iand Black dncba(u,m'
stona m at ari because ofa snapback has ai3- poult nakade o

_ PROBLEM 1 &44

b
!
|
|

5

Correct Answer 1. .il
. “Black 1'1s the vital point. No mat- .
: ter how White attacks, he can’t kill
" Black.-

-Wrong Answer

stones after White plays 6.
L.

PRUBLEM 17$ ‘;
LT %
< \

}

Bly

. Correct dnswer
‘Black lives by playing on the -2
point, the vitai pomt,

Wron g Answer
cki 1 looks big, but =
Black’s shape 1ato a 5-pomwl ...
S
1
——143-“-_.'.:‘ .

aE

1

Bl cl; 1 is not only small i
it alsq results in the death ol L ...



Vy rong Answer

s rr ctA*zm i )
Core 1f ‘Black 1s allowed to

‘White seeures hig two eyes, o0
at the the 0P and- the other at the

bottom, by playmg at 1. the 10?" N '1
1.

- Haneiel .
L-} @@L )f ‘( 7 |
T80 |
‘I J.l Y ""! \ N |

i nat |
. WrongAnsw |
Correct Answer
) Blac,k creates a
i 1 ives thte two Ii' Whlte 1 :
S 10 *JL t PR(}BLEM 178
5 ‘- } '''' o ,\
o 4 L] 4_{_ : : i
. [ g@J@ik );1 B @ t : .. D = : ‘,-:u :__\r bl ‘\
Sreeeies S, - |
ak )@@m@—t o o !
. "7"-‘-@ - e T Wrong Answer 1
V(i;r‘i:rfth ’11313 the tésup for The order of moves 1s ;mporgant
ngmg The? moves 1o Wlntc as tins diagram. illustrates. L

guttmg WO eYeSs!
7 show how Wlnte does this.

?ROBLEM 1"{}9

okl )
Wrong Answer:

. C orre.c£ Answer o

Blagk 1 i§ the ‘tesuji. 1f Black 2’)‘
White gets tWO, eyes with 3 If Black - Aoy
at 3, thte 3 at 2. 5 ;

1

play 2,
White can no 10nger make an cyc pt

L

|-
The order of ‘moves 18- 1mporltant 3

."If \White plays 1 first, Blac)@Z klﬂia tm,

}(0:".'.:

|
t
1
P
¢
!
3

1
B R e =
H
o "~ Correct Answer
‘Black 1 is the wtal point for get-
: ting two eyes.

i
-
[
c
ik
i
3
sl
5
[3
L
|
E |
:

B Preed
- 4 Y

u‘D!’ *cct Answer
BlaLk lives'by playing 1 and 3. i

thte Zat 3 +Black gets his second
o c;e, by playmg :?: at 2.

- ‘.:Black 1 fendars the white stone
- karmiess and énsures two eyces for
4 BIack’s group

- Correct Answer
_;Black get two eyes for his group

PROBLEM 180

PROBLEM 181

RN
PROBLEM 182 1\
|

. . PROBLEM 183 \}
l

1
WrongAnswer

if Bl ck' 1, White. can turn .
corner nio a ko with the moves 15 ..

}

S i

,1-

. ! WrongAnswer
Black| 1|fails, as the moves i

X WhiteS enionstratc.

! .
]L .
|

I
AL
I i
$BLOD
Nt /
rongAnswer

Howe er] if Black plays 1, \.n
2 and 4 tu}n the corner into &

WrongAnswer :
If Black plays 1, White 2 and

dth the moves to 5. If Whltc 2ats, link up wxllh the two white stones in |
stack 3 at 4 the cornet! sé Black's stones die.
— 145 — |



PROBLEM 104

P -
&&,B -

[ O
.Correct Answer 2

If White plays 2 answef

Bl wck 3 will also captur® thc
te corner stones. . k

1

Correcz Armver 1
B_lack 1 and 3 will capture the
fonr white stones in the corner, 50
of Black’s stones live.

08 PROBLEM 185 |
[Teeg g8, . W g
! _’[:1}\1®\\-‘l s ‘fr.f\‘

', - -t ¥ }_ ;
P (BReaas
Correct Answer : Wrong Answef..

Black 1, amming for eye shape, 15
theé vital point, If White captures with

2, Black 3 makes the second cye. and Blaik s dead.

PROBLEM 186 g
Pk Hj b}j
}( J%@?‘ Loeegec
. VB1e092
C ?(‘%{@ o -2he £ A
Correct Answer Wrong Answer

Black can also live with 1,!
the process he loses his thre{,
on the nght.. .

' Black 1 ensures life for all of the
black stones.

ER R W
' - S @( . ';,._ T
L )( \@é@< ol
'. a3 V b )%J 2
Q@\E}@@@ A
Correct Answer . . Wrong Answer

5 p!ayed above 1
Black 1 1s the vital point.- Whlte
can - capture four stones withi 4,-but
Rlack comes back with 5 and cap-
tures three of White’s.

thh 2 dnd 4,

— 146 —

I
I
L
1
1
1
i

"If Black defends the stone- in
atan, “White strikes at (he vxtak pomt

4: throws In between. 1 and 2.
1 Black captures two stones w;ta,
1- and 3, White crcatcs a falsc eyra

.F@O@@@
@) @?
Sk O s

R &
.. o @?ﬁ
‘ B
OGO
o1 : Correct Answer
. . Sacrificing-a stone with 1 and

four“ " then playmng 3 and 5 enable Black to

gettwo eycs

e Black sacnﬁccs a stone é.nd then
makcs twd e‘yes thh 3 and 5

PROBLEM 18 S

PROBLEM 168

BE
. {
e

‘ BI\ c.
io\iv-uE

.
59
% ko
\l _

1 =\ J
. Wrong Answer

ck 1 and 3 are artless ne..

When " lite plays 4, Black is ¢, .
| PROBLEM 190& g
.. C : 1
| ) 41
f. - |
bul n N | |
o “ uorrectAnswer
1 Wr -
stones . . When Black plays 1, the two Black Ir 150’:'(5;(‘)4 ):sfc?:rr Thiiy

~white stones are as good as captured.
“1f White'2 at'3, Black 3 at 2. Eitaer
l way, Black gets two eyes.

* \,mrectflnswer
- Blick - sacnﬁccs a stones with 1
d gets two eycs with the moves fo

PROBLEM 191

White- lime to play both 2
leavmg iack with only one c,y

[

B Iﬂerong Answer

Wlthbuli the sacrifice, 1l 15 ...
sible for Black to gel two eves.
sequencé, to 4 shows.

214
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orrect Answer .
The hane' of Black 1 is. the vital
pomt. Black kills White's stones with
the scquence o5, B

B J;
B \,on'ecr Answer i

Black Vis the vital point. No mat ‘

ter, how Whltc plays; h13 StOﬂCS“ di

U Correct-Answer -

Biack 1iand 3 force White to play

5 and 4,but 5 crcates a 4-point .
namde 50. thte i dead :

‘C‘orrect Ansiwer 1
Thc suqucncc Ap Lo B}ack 518
one way to kill White's stones.

PROBLEM ;ws

e —UE—

WrongAnswef | o

Black 1 and 3 are not the tesnjis:
for. this pogition. White ran hve with:
thq mov es 4 and 6.

f

: : 'WrongAnswer SRR
" Black 1 15 answere. by White 2
_'\nddr "Wlutcm now ahvs. : 4. PO

Wrong Answer:
I£ ‘%lack starts with 1, Wi
Lurn the comer into a ko wx‘h 2

ite can

Correct Answor 2

Ihc moves to Black T here éxc

“the orier way to kilt Wlutc,

a':id’.".

&

)

Whne crcat{:s the bent-four-in-
# lhe-cogne; shape with the moves to7
so 'White 15 dead, .. ’

—r  PROBLEM IAG‘

C’c)rréc't'Answ;}
BIacld 1. and 3 kill the white

ﬁv_‘
il

aBlac cﬁn lkﬂl thtc by playlﬁg 1

0P

Wrong Answer
with and 4.

- PROBLEM 19%1

b
1
oL
\' J‘“.‘
i
i
1
{
3
s

. _..;.,m.. Fﬁ;., ' _I
| Correct Answer 2
Bl:Lck‘lcan also kill White by ..
- mg 14nd, 3 in the reverse ordu:,

PROBLEM wé | P

-'_.t(;a;?enter s square Alfter the moves

_‘tht' 1s dcad.

|

!

|
L | W?ongAmwu

" Bla k|1 Jquisses the wit

White J:re‘ates a ko in Ui curnc,
the molves to 6.

PROBLEM 199

" s
i

A@

|
@@\%l

8
\ ..._@’ N i
\ ] i‘#&'}?
WrongAnswer
Blad k i 15 m the wrong, direai o
White cis two eyes and ive
andd, | |

o ll
S
1

Bk plays 1, Whie g L



uontmuatton ;

. 9rconnects at 6; 11 a7

- The sequence -CONEUCS -until -
. White captures SiX. -stomes. with! 10,

[ aftony which. Black Kills ;White) by
-mdkng a placcmcnt at’ th\, pout 7

‘Correct An.s wer
‘Black starts the attack with 1, but
White 2 and 4 are stmng counlers

. - After Black 5 —

Wrong Answer -

2-fiCorrect Am wer -

'fh?f‘ ﬁes“ﬂymg White's
h‘l 6 X

afq’ecrAnswer ,
_ "F-Whltc by playmg the

PROBLEM 204,

Wl‘ong Answer

lack Kills“White by playing the Playn?g %lack 1 ﬁrat fuil
hvcs in sekif )

Correct Answer ..

cing with Black 1 ﬁfst 1

Qaénﬂ
th 2

“Black 1 is the vital pomt Aitcr '

.Vwrung - White ‘gets two eyes wi

‘White 2, Black sacrifices a stongs--
Wwith 3 and thtc can’t get two eyes.

Cor'ectAnswer L e WrongAnswer .
Biack 1 to.5 is the: oorrect order. ‘ “3f Bluck plays 1 1 firstythere] is B
it shortagc, of liberties. White's tone

of moves. White is dead. .00 "
-are NOW unconqunajly

1

Wrong Answer = -

Black: 3, Black 1 is played: from the Wrong
cye be- direction. When Whltc plays 2 he. 15

' atve. B

Correct Answer

Alter the mOVES o
White can't make his second
cause of a shortage of liberties.

=150 — ' o

Ve.'i e

. vantagc of bis shortagc ‘of iberties.

£ Black j "1333' ‘1iand 3, Wmte is-
use of lhzs_ shortage of -

© Correct Answer
Black 1 Jills White by taking ad-

— 151 —

ot

I WrongAnswar
- If'Blackl plays 1, Wik
thhZan 4

vk,

T



‘ it orrect Amwer L
L7 1f White plays i, there is no- way
T tnat Black can get A seconci eye.

: :hJs own atar thh thn White.
-.answ:‘,xs w1th 3 Black hves thh 4

WrongAnswer. SRR
1f White throws.n 2 stone At 1,
Black easily gets o CYLS by phy:ng

Toat 2

Correa Answ
thte Kills Black with. 1 and 3 If
Black 2 at thte playq 3 one pomt

above 2.0

- PROB}JQM_Z}@

.Wrong An s‘We :

L s, ‘ ' lack
I Whlte plays- L Erst? Bl

imi It Black. 2 L ey B

Wh?tihl gc::royg %mycfks eya shapc tWG eyes v when he p ays 2{ ..

with the atanpf?. - S S 11

.m@mﬁ_m \—«-—---\4:-;@-)1\- -

Wrong Answer
Whltc 1. resmm m a
 (ures four stores, Black piay i

}cd"iw'heﬂ
Whltc plays 1 and 3. BlaCK cap' g
put he can’t live..

"*mlszw#

1 B'laci{ pLaYS |

Bia('k acnficcs two stones vith 1 get
and {lien throws. in another with 3.
= ,_When, Black plays 5, White 1 dead..

PROBLEM.

12

R-IR
: Wrong A
Slmply playing 1 ¢
twio eyes with 2.

I
.
i
|
1

1
PROBLEM %1

%

! *y ' Correct Answer
Black 1 kills the white stoncs. If
Whltel 12 Black''3 and 5 destroy 2. L

Eﬁ

{
N
L - Wrong i
‘Bl ck 1 enables v

3
g
;

)
B
i
1

& k
C’orrecrAnswer - ‘
Histhe vital _point of .

Black 1.and 3 create a bent-foue-

m—thc'/-oomer shape,

‘ dcadlf 2 at 3, Black 2.

PROBLEM :%14 :

2@'

|
{
|
1
l
-
F Black plays 1.0

1If Black tries (o =
ith 1, White cus -
mu} a ko by pluynyg -

!L!

so While is

— 153 —

- Wrong A

th epldyw
o |
- b PROBLEMZ 5 :
es RRE=EE
_@Q\.g i \ E i lﬁ%é)’:: ~
& 5 S 5
- Correct Answer Iy Wron g A

~

e

B




| PI}GBLEM- 216 .

ol Vr'ong Answer
If Blagk:{l,, White lives w0

[ -
Correct Answer = 00 Wrong Answer - . :
‘Black 1 15 the vital point. 1f thLe S Black plays 1, White can get,, \ wtal Sl KR
the moves (0 7 luil Whm,. L ko wx.r:gthc oves to 6. oL pomi f‘_"f‘,m"’_k‘"g two o
: | PROB L‘M 221

/‘

_L.L

Correct Answer - - Wrong Answer . : Bl "0’136 Wm
.y : ﬂd\ 1 ng clisive
Thc clamp of Black 1 is the wtal I Black plays 1, White easily ths Black's }ullsl;hﬁngtw pOmt If thtc . Black [l is'the \:’rjx.,g, ;w »
Lo Cied. il mﬂwew onfbe play: 2.

point. By sacriflcing two stOnes . w1th ' two cyas by dcsccndmg o2
'7 Black destroys White's sccon__q eye.

“R{BBLEM 222

|-
\
!
!
\
I
1
\

L % ,;Wrong Answer
Atta th ‘Mth 1 ly d '
by playmg\z and 4

PROBLEM 223 | "i

I
:
1---
i
|

L Wrong Answer AR
: I‘ Black plays 1, White casily pets.
ﬁnal t_wo rycs by “descending to 2. ‘

v Correci Answea
The .answerl here 15 sumlar to. thc,

g prcocdmg problem. The -
- gacrifice ol ¢ Black 7 kills thte

PROBLENE 2-19

L 1, @ (440
. - f%‘"’:’-‘

;! Carrect An.s'Wer W
i A W,
Correct ARSWL T The. Placemt of Black 1 is the The d ;fa:fg Blﬁxvif \
Again tbe final sacnﬁcc of Blac,k ?’%‘a‘*% White "Bla k.3 aad 5 tives by pliying 2 4 +
7 kills White. : Nox-;.:_Bla & 4, thtc."jat 3. .




P

[P——
g
e atimibk e oty

w3 =

T,

v

with the nioves to

Ree

Jf White plays 1, Bla

White makes an eye

arc now dead.

Correct Answer

Correct Answer: . R
in the cormer .. ~Xf Rlack s

1

icis

5. The black stones -

 PROBLEM2,

Correct Answer

I£ White plays L the black étones '

are dead.

‘Correct-An

The placement .of

vitai pomt. Black’s s
after the exchange of

2 for 3.

short of -
liberues after the cxch_ange; of 2 for3:

 PROBLEM 225

PROBLEMZE" i( ‘

swer
White 1 1s the
{OnES. are’ dead’

st et |
. .. Wiong Answer. - . ;
. I White plays 1, Black can
with the moves 10 6. o

- 50
L

Wrong Answer

|
i
1
|
of Tk T:‘
| b
! . o
allowed: to play -at kfﬁ i
|
|

thete % no way

that White .can.
Black.. B

B9 Su-)-naABEN,
. . WrongAnswer ¥
-16White plays 1 here, Black
~ with tie moves to 6. R

< Wrong Answer: "

clear “that -Black can get AWo
after he plays 2. R

livcs"_’
!

+ Clamping with White 1.fails. Itis:

T
:@T;

Black : 1" sacrifices. four stones.
‘ g?n_ the edge is false.

PROBLEM

kS : & «.5
_-“..—__'I‘hc moves;to 5 kill White. While
takes _th{eer-sto_ncs,' but Black retakes
- and White has only a false eye.

e Correct.Answer
- Black first plays 1, then -connects
ats’= creating a 5-point nakade.

— 157 —

| PROBLEM 230 H

PROBLIM 231 |

Blagk J,
solutely alive.|

228

rong Ansier
p .
fails. Afler 2, Wi

. Biaﬁk"l
and4. \

”’G’Oﬂg Arsi o

fails, Wiite L.

56
e

i
& |Wf0nngi.'x.', Gt

If Black

|

plays 1, Vi

a ko at the pdge witl: 2

a

i
|

R It
)

- l@

‘E.( Vot

+ &

OB

i po !
- w

1
i
|

& (AR o
rong Anizios

1f Black!1, White . . - .
and 4. Vo i




fkes: :

ongAnswer
White can live with the moves lo :
6 if Black plavs 1 as m this dlayam i

Correct Answer
* The moves to Black 9 create a
bent-four-in-the-corner shape, White
is dead.

ot

PRODLEN -

|
i
[
¥ W?ong Am wer !
Bk 1 fails. Aftcr White 2, thc{
s mo way Black can stop Whuc frogn

' C'orrect Answer
‘ Attachmg with Black 1s. the wtal
pomt After Black 5 Wintc Cdll't get i

twocycs . _ E
o PRdﬁLEM ';5,32;:: TR
@’F 6@ o

: @ 2) ,:.-;: o

Wrong Answer

Correct Answer

sekl \mh the moves to 6

Correct Amwer Wrong Answer

The. clamp of Black 1 is the v1tal .
point. White 18 dead when ‘Black *

plays 7.

| "-f;Bﬁck 1 enables . White tb hva in |

I Black - .plays 1, Whné can l\we _
thzand4 I |

koby piaymg 1 and 3.

.. Reference L. ..
~ Black could alsv .. .-
and 3 here, but in .
the correct answer
advantagecli .00

" ditional!y"aliix_m after & was .

with’ the moves to

: PVrongA" AR TEK
WhJiL L
he play:

If BI‘ack 1,
ally ahve wﬂen

P‘KOBLEM 239

TR -‘"i-Correct 1)
-_.Black can get an

Wmngm, .
f Black exchang:.

approach-move
is uncondxtana]ly alive.
- l ?



Correct Answer- -
Black gets a ko m the corner- by
playing the moOves {05, B

m_.,".,i\_.._( \@ 6\

lze%

._‘_ S g_. Fb
Correct Am wer
Black 1 1s the wital. potnt.. Bla.ck

gots a ho with me movcs to 5.0

Corrert Answer
Black 1 15 the wital point. Black‘
gets & KO with “the moves to 7. 1f
Black ook a stone with 5, it would
still bea koo

_ E?ROELEM 2‘4{;

PROBLEM 2_41

PROBLEM Z-’%Z

PROBLEM 243
o i
-3 \|
x,orrect Answer o Wrong Answer Lo
Black Eets a. Ro with tbe moves {0 Black 1 fails. White 1s gl.aranteed
5. - tw0 eyes when he plays 2.7

160 —

WrongAnSWer _
Biack 1 is the standard tesuji, but

 Pecarse White's two: stoncs -on the

3rd lmc have nbcrhes, it lails,

. WrongAnswer -
Il Blacn plays 1, Whttb gets Lwo
cyes wﬂh 2 and 4.

WrongAnswer o .
¥ Black 1, White plays:2 on the. -

wta‘ pomt 'mu gjcts two eyes wuh 4,

[ SRR TR e . PROBLEM 244 | |

§ R QT TR T
._=,‘,‘. e ___ f\ —-@.ﬂ_ .
LT O, AN

E Com’crAnswer : : lWron l
: _ gAnswer
L re Whltc turns the. corner. mto a ko ite
- plays 1 and 3, Biuc:.
. ‘: with- E,and 3. = kills Wﬂte s stones uncondxtlonm
T PROBLEM 245 |
" I BYr ' o —r-——,—«( T BB
. :  Correct Answer | l TI/V,v'on An
: swer
: White 1 is a brilliant move. B!ack WlutL: catchei two stones witl:

S22 s thie strongcst responsc, but ‘White: .

and 3, b Bl i
gets a ko w1th 3 bt a‘* gets tWo eyes witl.

and4 \

PROBLEM 2.46

Sy

‘Correct Answer

If: Wte 1, Black creates a
: L o point ‘nakade: with 2 and 4, i<HiE
;_.9. 3 G White un :;dmonally.

e _Wﬂte getsa ko with 1 and 3.

— 161 — ? “5

. ‘.‘l . -:-n_-_‘i . ; : o+ ) ) : i@’?‘athnswer
T - White' 115 'a brilliant move. If White 1 lets Black Live uncoiw
. -Black 2, White 3 creales the ko. tlonally w:th 2 and 4. ‘
T P PROEX LEM 247
it . - +OQ86 .
; .' e 20 . o ‘I
. B @ l !
A aboel , ' | i |
b Correct Answer f/Vrong Answer



_ - Correct Answer

Black-l turns the corner into-a
ko. Either side may start the ko, but
it’s certain.ihe life of the white stoncs
- will be decided by a ko. '

- Correct Answer. -

_moves to 5. White 6 begins the ko.

Correct Answer 1

moves to S

L PROBLEM 248

PROBLEM 249

Black gets a two-step ko With the

PROBLEM 28 0

Black scis up ihe ko with the
_He could also reverse the
order of 1 and 3 and get the samc ko.

&
3
1

i
5
T
i
{

ATE
/s
e

=-\_)
]

. Wrong.Answer .
If- ﬁlack 1, White 2 turus ihe
corne:r -into a. sek: ‘

Reference Dmgmm .
I White plays 4, the ko becomes -
an i medmte ko when Black’ pla.ys 5.

Correct Answer 2 :

follcwcd by the moves to 9.

|
PROBLEM 231 !
i
l
Correct Answer Wrong Answer- 1
‘Black scts up the ko with 1 and 3. 17 Black 1, White 2 kills:Black un
ndlUOndly ) 1
J - 162 _—-—' : . A

Plack can aJso get-a ko wsLh 1,

21k et i o i S R € i

o e bt B ey Sne )

el Comec!An.s'wer '

o 2-15 thefmos

3 atI 4 at 2;°5: right of2'
‘ . Zetakes theko .

Blacx gcts a.ko with thc ‘
- I
/ wluch are all forccd oresto

I BI 1cl§ plays 1, his stones ar.
dead when White recaptures with «.

o PROBLEM 253

| Wrong Answer.
. Sacrificing a stone with 3 is necd
;15 a one-point loss four

Slmply cmz?nng a seki. w1th 1 and :
tablc way to play

f' [rooes

- Camecr Answer Wro
- ng Answer

o . If Black creates a seki -with the Creati g i seki with the moves it
gigves o 5, he ends w1th sente, since . S here cnﬁis in Black’s gote.

‘_ Whltc must play 6

1 Correct Answer . - ;WrongAnswcr
o If Rlack creates a seki with & and- Creating a seki with 1 and 3 her.
p,--hc cnds with sente afier thlc 4. ends in Black’s gotc

| -—-153# "ll |

|

1
i--";.

L




@B

Correct Answer

If Black 1, his stones are uncon-
ditionally alive in & double o seki,

Black 1 and 3 are the moves that -
win this tapturmg raoe for Black,

Correct Answer
7 at i

then plavmg the moves 10 7. enables
Biack to wm the race by one move

. u,omect Answer
. Black i i"the wvital point. Black
w1ﬁs the captu:mg race by one move.

 PROBLEM 258

Sacnhmﬂg two stones with 1 and -

_——164——-

- -j;;)@%m 30

' ) /%E‘@@r

] Wr ﬂgAnmer .

If Black cormects at 1, White can-

é (;?QE

turn this into a real ko with A

o PROBLEMZS} L
r—r@w\z‘ﬁ D2 .
l —M— : ‘414: - |
» Correct Answer WrongAnswer

Blitk 1 is far away from the
© scene of the! battle. ‘White wins the

captunng race with 2 apd 4. ..

.ﬁﬂr@’gﬁﬁm\ i
v&ﬂ@@ﬁ_
-G F ek

P -

E \‘1 (6
b—ﬁx
B

Wrong Answer

| Atiri from the other sidé mth 3
herc résilts in Black's losng: thc cap-
. turing ‘race. by one move.. IR

Wrong Answer

. 1f Black 1, the corner ‘becomes a
ko thh the moves to Black’ b 5 1 o

E ‘f«:?ur stones aftcr the moves to 7.

~ PROBLEM 260 | |

— 165 —

i !
C Co:recr Answer ' Wro -
) ] ng An
¢ Black 1'is the only move. Black .}Black 1‘mxssci, th;};f;nt. The {iv-
- _will - capture - eight - white stones by, black stbnes will be captured afte
* -playing the moves to 7. : Whitc p{ays 8. ‘
PROBLEM 261 |
SRR " Wrong Answer-
Jumpmgi,tb Black 18 the only - Bla 1lallows White to take the
- -+ move. White s»ﬁvc stones will be cap- v1tal point. |Black" three stones oo
| o e.n'cd after Blat:k plays 7. the nght are now dead. :
- PROBLEM 262 T
- \ 4\-_ @%@@—
I : @
] R \ Yo o
! vy 3 Cgrrect Anmgr g - . l WmngAn.IS'w'er
hltBIa?:k 1 f;l;d 3, catch’ the four If Bl clé, 1,. White will c:;pture
~ iuhite’ stones. WhlthatA,BIack ' Blackaftr Ia 2 and 4,
fr__,‘\?\ﬂalte(.? BlackD e T i ymg =
e :
PRGBLEM 263
] )
' -' . Correct Answer : Wrong Answer
e IE Black 1, he will capture Whltes . Black |1 allows White to escape

with the jump of 2.




T .
i il TP Tt

& s L s o e |
8 g ST g
‘ ! . ' - e ] CorrectAns ‘ ' IR
ii Bl }% fiﬁei‘fﬂﬂbi‘-’er } f FO!lgAnswer | T N - Black first plays 1%?;11 destrovs . ..,‘- ' WrOﬁgAnswer
a¢ the position 1s a- sclu Black caplurcs - witiy 1, Whue ST _ White’s eye shape thh 1, IfW’IugnyY_ 2@5&3@ 1 and 3, White lives . -

wiltiplay 2 1 the nnddlc of the 3— S " Black'3 is the key move

This szki, known as hane-seki, is-one |
i pomt nakade and —

PROBLEM 268 |

of the classic stmnbu positions. i

R

- Wrong Answer

Rcference Diagram

C annmmtwn SN

A capluring race ensues with 3 _After. Black 1 in the correct: Lo e 1ack ‘strikes. at- Lhe vital bmt £ ¥ B)

and 4. Black loses this race because answer, i{ White piays ¥ ‘Black re-‘ o 1 tnen RﬂlS:Wlntc with 3. P o . if B ek plays 1, White gets =
cmturm and the §1X whm, ::Lon{,s dxr:. oy T ‘ ' Shapc thh 2.

his nakade 18 srnllcr than White's.

PROBLEM 265 ]—-P @

I ‘WrongAnwer lays::1 - followed
Bldck dies’ uncondition: nally thte hasf‘ﬂo counte.r becaussbge?s
plays 1. This is an exampl -

c‘;s bea.s no cyc o

Correct An.s wer ‘
If Black plays 1. the posmon be--
comes a lriple ko. _

PROBI_,EM 266

(i
!

" bOTTECE Answer - Wrong Answer
’ Black throws in a stone thh 1.1 - After White makes: a !:\0 threat COITecf A swer - =
White 2, Black 3 — _ e can play 1, but thenBlack- playsi2. . Black: 1 and 3 are the key moves. T i rong Answer
~ When White runs out.of k01thrt,at5,,  Black 5 now catchos the four white | meas ‘chimgmg Black 1 for
: - Black connects a Ko and wing. - stones below in a snapback: T ICSS White now casily
B T o e L 0¢ ?SLHO matter what Black ¢
e —167— ||
| T




C Urr('ct Answer

Black sceurcs iwo eyus with the

moves Lo 5.

*1 @

Correct Answer

1f Black plays | l and 3, Whitc can
live oniy by wiing {he ko starting

with 4. |

- f;onect Answer h
Black 1 is'the Vital: pomt If Wh]le

2, Black 3 kllls Wh:tc

PROBLEM 27V r@z8CTT

Wrou g Answer
into a o with 2,and 4. . Lo

?ROBI..EM 27 2

- .r.m..,-’

Reference Diagrant:
17 While-trics 1o stop the ko with
n and:d, he 1s defensciess aiier 5 be-
cause. he is short of liberties: i

PROBLEM 273 i
| | |
§
WrongAnswer l
1 Black , White 2 mrnsj

_.."i,:cornﬂr mto a ko 1t Black 1 a

10 Black 1, White turns tLe corner

i By playmg thc moves t0'7 W}ntc '
vkills " Black by creatmg a. S—pomt:
w,l{ade :

The . PROBLEM 275 s
:N. " . @_ c
: - (DE-1C )&
f. s e’ S \
B o Coneci_Anlvweri_ . . 'Tf?»’rongAm:wer
i - White can. live by turning the If Wlhxte 1, Black can turn the
1 ;@Eosxtlon into a seki-with the moves to’ pomtlor:‘lmto a ko with 2 and 4. This
i+ 5. 1 B1acii 2at 4, White 3 at 5. is a failure for White. L
R PROBLEM 276
it NE o
VR £ )
G i DR ‘
IS SRR i
3 ‘ » g Ca!?ectﬂnswerl ' ‘ 'Cbrréc.:r.rl‘in'swerb
i White 1 threatens to make eyesin Black 2 |destroys White's eye on
34 ~ fwo dqechon; If Black 2, 3 gves the right} but White gets two eyes
i : with the o{/cs to 7.
;',5‘.' l

PROBLEM 277 | |

;\/;
T_.

1

]

WmngAnswer

Thc sh apc created by Black 1 and
‘ 1,3 .cannot,prc;vcpt Black from getting
- two eyes. Black is alive.

% e ' PRGBLEM 278 |
! ? iy
' ~ R P
u' 7- \ |1 | ! : _‘;]‘:%
B : -
- -.-* \ L L. ‘ l\I/l’f'rong.ff:ln.s*w.»er
S .W e Answer T - Black. gets a second .cyé in the If White lcaptures with 3, Black
CorrertAnswer A ‘ 0 g : es- ‘corner by playing Tand 3. = ‘ean turn tins posmon into a ko with
destroys White's eye shape ’“E Black 1, Whltc gcts o ey NI IR the maoves 1toS
with the moves: to Whl!elsdcad. L Wlth2 and'4. o |

—168— — 169 —

|
|




sl ea - -
bote S T e e e S

“Wrong An swer” |
¥ Black plays the movss (o 5, aff
‘Nlnu, 5 \tonw are alive. .ﬂiu 0.

Correit Answer
thk sels up a ko n the comer
with the moves from 1to7.

PROBLEM Zﬁﬁ .
e YA : e NPT -
. | 9gee. ¢ Em%&;:
W Te T 1 Te e
%) IR A0
N R A4 \—L o8l

Correct Answer 2 | -
¥f White answers 1 with 2, Plaa,k
cari a]so set-up a ko with 3:and .I

. Correct Answer 1 - .
Black sets up a ko with the moves
to 3. If White 2 at 3, Black Jat A

PROBIEM 81

Ritd
4525
Wrong Answer

Correét ‘Answer. :
If Black 1, White- atans with. 2 In- -
stead of tak:ng two stones, Black. next -

the black stones thh 2 a:ad 4,

plays 3 and 5, sacrificing three. stonesr : o
,, bt making two eyes. . S |
Dyt L

 PROBLEM 282

Wrong Answer
.. If Black connects at 1 fust Whltc
p ays 2-on the vital pomt and v, ahvc

Correct Answer :
Black 1 is the wtal point, Aftcr 3
and 5, White's stones are: dead.

— 170 -

|
1

+If Black plays 1l White kills: ali :

- .' B ‘t"-‘ _." ol
e o |
) !
If Bl COfrect Answer -
de lays 1.
in seki. - piays: dnd3 he 15 alive

/

L u,orrect Answer::
e Biaclc kills White w1th the moves

* PROBLEM 263

Sl b8 retakesy 60 at 1
. deiutc answers 1 with 2, 1t
captutc:s gnl.thc white sioncs.

L Wrong Answer
. If Black first attaches at 1, Wi

| ' hves \wtlr the moves to 6.
7L - Lt




r@-r@@ :
? 612 ‘@Q@“ -

Correct An 9wer
The rmoves to Black 3 create a
" peat-four:- m Lhe-comer shape, SO
White 18 dead. :

Correct Answer
Black+jumps i to:1 and dcstroys
White’s eye shape wuh thc moves Lo

wd

f‘on'ect Answer: .
: 'Black kills Wluv.e‘ with the moves "
to 5.

“ Correct Answer

with1 dnd 3.

PROBLEM 28"" :

PROBLEM 286

PROBLEM 23}

Black dcstroyb Wl.utes eyc shape

- 172 —

Wrong Answer
Reversing the order of 1
resultsan, White's gelting two eyes.
with’ ﬂ"u moves to 6

1. and 3.

gk "‘T“ ..: ‘-‘ K

A ssar s

.Y Wrong.Answer o
_ ‘;-?-',Blad( 1 enables ‘White to five vm:h" S
204 The. sequence  1f thc icorr ot
answar 1s the only way.

, WrongAnmer ;
IfBlack ataris w1th 1, Whlte hves

W1th23nc14 R T ‘I
A i

I
!
1

-

WronfrAnswer
7f-Black connects at 1, Wlnte wﬂl
: getairov\nchandél P

\
T
!‘

\

e et e

Correct Answer 1-

 PROBLEM 291 |

ot Black kills' White with the moves

“i0 5.

oﬁ:fe;:t Aﬁswer '

‘“.ﬁ—:?.! XN

1s‘dead._

2 Com?cr Answer. .
: Wl'ute kills Black by creatmg a 5-
oint nakade thh Tand3.-

L Correct Answer
b __Whit_c 1 is the vital point for
making ‘two_ eyes. If Black 2 at 3,

L V‘ hite 3 at 2. Either way White lives.

PROBLEM 292

PROBLEM 294

| Cormct Answer 2
-IEB ack answers White 1 with 2.
Whlte 3 and 5 W:li also kill the black

stones. .

I
P

. : WrongAnswer

‘ Agam th& order of moves is im-

- portant, If te 1, Black gets a
-hvmg shapE \1\1,11::111 he plays 2. '

. JWrongAnswer
White 1 falls. Black 2 and 4 leave

* White’s graup; with oniy one eye.




Black plays the moves to 5. After
Whilc A, the lile of the while stones
depends on winning the ko.

¥
Black
to5.

Corre r fu'l‘ wc*

Correct Answer
After the moves to 7, White can’t::
create a 5-point nakade by ﬁﬂmg at 1’

because he is short of hbcmes.. 3

Carrecr Answer

kills ‘White thh the mbves ;

* PROBLEM298

Conrect Answer
‘Black 1 and 3 are the only way
for Black to live.

PROBLEM 2,%

e,

o gl macm ..;;- .

—174— -

i }\/"‘\f'“\_‘

A-J;nu\kj\

' Wrong Answer

Wrong Answer.’

| WmngAnswer :
. .Black 1 misses the wtai
,.W%ate is alive after he plays 2.

b
p

Wrong Answer-

“If Black captures with 1,
kshs Black with 2 and 4. =

If Bluck plays 1 and 3, White hives
unonditionally with 2 and 4.

|

"1 Black. plays 1, he is: dcad. after
W“mte pldys 2.

Correct Answer ' ,

e ok Refcrence Diagram
'[}?Iad'( turns the cormer mto a ko | B]ﬁck can aiso geti ko witl.
e withthe moves to 7. moyes| to.7. Black 1 at 5 also o

. : . ak ). t :
A T e
=

e e et

‘Wrong Answer
captures with I, Blach

the vztal pomf for '
cyes “Xf ‘White '2;; Black
d gets his sccond eye. ..

SO+
&
_._?__
iz tCorrectAnswer il o WrongAnswer
+1:To kill:White, Black must play 1 'I‘hr(p\wng in with 1 first enabl:

anid 3in tlns order. Whitr t@ got two cyes with 2 and 4;

PROBLEM 362 '\

s
\

: Correct Answer ey
> Black first'plays on the. vital pomt _ Black
w1th 1, then' -destroys Wlntes eye 1sto et k
-shape with"1'and 3, -

Wrong Answer

1, the best Black can i
o mth the moves to 5.

5 -_-17'5'




B

. o t. i
t - : . i e [ o=
' PROBLEM 303 H - . i Lo
! - ‘ T —
; .. i -
| : o N
o 7
s f 1ol :
» Correct Answer WrongAnswer SR R - ) : _ | : ‘
Black 1 is the wital point. After 1f Black connects at L, White géts : 4 o Correct Answer Sl '1 WrongAnngr
e : L 0T Whi \ ' .
thu, 2, Black destroys White's eye two ee.!:swu h 2 and 4, - L L 3 e _ hl_tt"_ lrand 3° glvc Whltc two - te 3, Black destroys White's

eye sl pe: with 2, If White 1 at A,
Black ‘also kills White.

hepe with the. mMOVes to 9.

?ROBLEM 3033% L.
L |
T %ﬁj |
R |
Conrecr Answer S WrongAnswer o B
If Black plays 1. ~and 3¢ Whltc will ~Biack 1 and 3 are too slOW. Aiter e ‘. L
only be bble to: gefione eye: a.ftcr he Black ‘captures with 4, he.cin ea;nly Whi zqg)kcs an open. connectlon .-/ Descending tor1:lets Black cap-
b capturr:s the thxee. black stones e gct hié second eye e I : 1_-‘ i lack 2 Wh1te gcts two tuxe iu <tones with the moves to 6,
" N e S B T ' RN ’ea"‘néﬁv”'h‘“?‘mh,?myone eye.
PROBLEM 3091 s

\ W;'ong Answer

: Con'ect Answer , WrongAnswer T ik C _
Black must: sacnﬁce a stonc W1th.~” . 17 Black . captures three stoncs . Whlte 1 1S the. vital pomt. After 'tcl, 1 is bad shape. Black

© 1, After’the moves:to Black 5, White. w1th 1. White can make His sccbnd T S Black 2 and 4, White gets two- eyes strikes at\thc yital. point with 2 an cl

s left with cmly one. eyc o eyewith2 11 I for his | group w1th 5. ills Whitp with 4

PROBLEM 260 @@ MJ('L@
R y i U%%é%
@S

WrongAnswer | L
I Black 1, White 2 forces lack T
enables- Blac uefend at 3, 80, Whltc gct

stones z_md kxll 'all of W!mte s. secoud eyowith 4.

C‘orrect Answcr ; Wrong Answer
P Whltc gets his two cyes by playing .; e 1, Black destroys White”:
thc.movcs o5 ' e ‘1011 the right with 2 and 4.

_E

L R
76— |

\




PROBLEM 311

. PROBLEM 315
A -
: I Ce - | i ’/
Correct Answer " Wrong Answer - ? o
-~ Again a move-on Lhe first line 15- . If B]qCK plays 1, the moves loL g EA"SWW
- the key. Bldck has two eyes when he. White 6-create.2 S-poinl nakade in-: ctsiWhite Lill Black by
piays at 3. . side Bla¢ 1(’5 group | oint nakade thh the

PROBLEM 312

L WrbngAnswar .
wfIf B a'.ck 1, . White . stnkes at Lher'.

1

? @@? |
‘ ‘;@i\{)l 'l
\

Correct Answer
Black plays 1. If White 2, Black 3

. and 5 capture two Stones.

e uorrecrAnmver SR S '---_I(l_.f_rongAnswer
s Blaclc sacnﬁces two, stones. W1th 1 a5 one eyc if he ataris
T and3 buigcts i

- WrongAnswer _ R
IfBlack 1, White 2 kills the- blacic

tones 'l“hc correct answer . 15 the_ )

' nly way; for Biack to hvc

s
|
|
ll‘
|
E

|

i

F ke Comrect Answer _ ‘ - Wrgng Answer. Black ptures two white stones
- Black can get eye shape and live If Biack captures a stone wuh 5o with 1an§} .put. the main body of
i unconditionally with 1 and 3. © and3, WIUtC gets a ko with 4 and 6. White’s group iy jves with 2 and 4, .

e
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PROBLEM 319

| o
|

@ o
PR

Correct Answer : Wrong Answer

I
R
o
|
i
i

Correct Answer

T R tht e : f Halid WrangAnswer
. i Texr T e, -5 is] the - vital pomt or. ptlhrm a: black? '
Black 1 is the vital point. Black - If Black 1, White kills Biack‘ by .. 0o making twidleyes: Black aptures two fax]s 5 stone with 1
can'live if he wins' the ko Wiutc starts makmg a bent-four—m—thc -cornet - - : ; -

el strikes at the. vital point

“ stones, but White lives vnth 3 and i d: Whltc can’ t gct two eyes.

|
i
1
1
T_

1.1
1
\

-
\ ,
i Lo ' - 1 : ‘ L,a rect Answer-: ' T%onoAnswer
Correct Answer. | - WrongAnswer ‘White"1:3nd '3 enable White's | A pdar2
Black , makes. two:eyes i the -« Black:.can rescue “his four sto(lms stones 1o Evell Bla ok captures three  Whitd: E{ " Black 4 Teaves
corner wxlh and.3 and kills White. L and 3, but: White gets a sec und stones and two stones thh one mo e.. W.lntc Wlﬂh 5 nly onc exe.,
If White.2 al 3, Black 3 at 2. ‘eye for hls stones w1th 2 anu"‘4 > _ ‘

& - Correct Answer 7 l/l)rongAnswer
Correct Answe LT VrongAmww . _ Whltc 1 1s the.only way to kill If Whﬁlc connects with 1, Black
Black makes iwo eyes and lives If Black 1, the best Black can g,c N B‘ ack. If Black captures two stones lives by capl“unng three stones with 2
by plavingrthe moves 0 5. -~ is a keafter White 4 I with 4, White retakes onestone. and 4. ; \
— 180 —
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PRI T . . . C . o R Pyt
~ . Comect Answer h Wrong Answer "7 Black 2 c‘;?t'r:;éftnvf: f:"hltﬁ stones. < - rygzgffmtﬁ; moves to
T Black descends to 1, he can . "The order of moves 18 imporfant.. - If White fries to provent B S v » Wb
_captufe - White’s - stones wnh the:, If Black plays 1 and 3- before 5, - getung a sccond g;cw;;c;a;i f;;)nf zvglte 6 leave Black with only one
moves'to 7. _ 3 White lives when be pldys 6; 1 y v ye.
 PROBLEM 3i8 g . 2=
. . : 3 Pk ' . -
@OXA Y @ R " @f..z-rg%ﬁ%@@ﬁ | , %?
@i 60 R (o Yce v 23]
@ ? o IR mara
Correct Answer o : Wrong Answer : | ]l 5 Wron
. : g Answer
3 atf I; 4: captures a stone wWhite fives if Black plays 1. l:(‘ha - i n . If Blagk simply plays 1, be has 1o
Black sacrifices two stoncs with 1, saciifices In the correct answer XEEP R R ,--s  follow-uplmoves to live after White 2,
thcn anothc:r with 3. 5 kills Whlte. o White short of hbbfthS N : vt oo ,
PROBLEM B e 'PRCBLEM 333
o b | % '
l?:i o
_; ] : . : LI N 1 y
- Correct Answer CoeTh Wrong A”SW” £ i - CorrectAnswer o b
Black 1 strikes at the vital. pomt Black 1 is a-good move, but - 3 After 1 and 3, White nust give up '.TI_‘hé‘ipi-der of moves is important.
White 15 dead when Black plays 5. : mn‘ses the pomt Wlntc lives thh 6 o 'the three stones in atari. If he cor- Playing ‘1] first allows White to live
. t “ Co nects, Akills all i:_»f White's stones, = with pﬁ| his stones. S
i @@@@ PROBLEM 330 " Y - : s
". o @K : 1 PROBLEM 334}
i é{ i 4 : : o
: o ST Correct Answer Wron Answer
Correct Answer 1+ CorrectAnswerIZ | s _ o g
Black lar:;acri 3 arbc correct. If #f White plays 2 m answar to 15 b E B,‘Iack‘c_an make two eyes by play- Snn  playing 1 and 3 fails to get
Whm: 4, Black 5 kills White, the, moves to Black 7 Jall W hxte - ing 1"and the moves to 7 two ey S, Whlte 4 kills Black.
182, - g i 183 —




o

. Correct Answer

Black 1 is the vital point. If White-
2, Black 3 kills White. .

SRPEI SN BN S SR S
Correci Answer
Black kills White with the moves
to 5. 1f White 2 at 3, Black 3 at 2.

Correct Answer

2, Black 3 }(iils Whitg,,

o S R (
Correci-Answer 1
Black ‘captures three stones with

the moves to 5. Now Black’s stones
are alive. R

PROBLEM 336

with2and 4. :

© PROBLEM 337

Rlack 1 1s the vital point. If White "

PROBLEM 338 ||

184 —

PROBLEM 335 17 : S -

HEG T OO AT - oA /
Wrong Answer S T © Wi -Carrect Answer i } Wrong Answer :
Black cannet reverse the ozder of o i e hite plays 1. If Black 2, White if W]]ﬁ[e' 1, Black catches four

‘ . <filays 3, sacrificing two-stones. Black = white sto;;cs%with the moves fo 4. b

Poa

 moves- with 1 and 3. I be doesy . - 8 g i

White tizes when he captures with4.,  § s deadys e B b
¥ CEb H L
Ho we PR ‘
- § P 5;\@5@?} .OBLEM 340 L. | }
2 : bt i L : e - . . - - . J
Q0 HOBOT 8 ! L TR CR0 o g |
BT s DG ' s @) q 1
R i I n - : o - & i
Nk asAhadn . Ihpand

; S L N Chrrect Answer _

- ‘ -~ White 1% a brilliancy, After : If
+Black 2, Whitg;plays 3 and 5, captus- black stories with 2 and 4.
- HBg twoston s and getting two.€yes. e b .

- Wrong Answer . e
If Fiack piays 1, White vill Tive -

L ad . PROBLEM 341
t— , - i —-4"—‘ - 3 ¥ @ . A L‘ - i =',-
“ 4 i { ;;
Wrong Answer 1; ‘ -0

N S Co:'recr Answer - : l'-Wmn_gAnswer o
o .~ White 1 15 the vital point for Yf White 1, Black kills White with
: ~roaking a second eye: : '

1f Black % and 3, White gets tWo
eyes with 2 and 4. ' b

the moves to 6.

PROBLEM 342 | |
b

-]
HS ! ‘-
el ' . -
@ 1
a6 SR ¥
TOCOQYL 5 '

S R IR T T - :
‘ SR ' L r . Correct Answer
« White first plays 1;then increases
the sactificg to three stones with 3.
After White 5, Black is dead.

. Correct Answer 2 E
If ‘White answers Black 1 with!2,

Rlacicwill capture four whife storics

with fuis moves Lo 5. :

rong Answer
f, first results in Black’s
eyes with 2 and 4.

1 ‘

Playin
gethng twi

RS | — 185 —




'PROBLEM 343 l\' o
| L);%’\ Nl

. . 3@&) |

Ret e
@é@
CHCK \-
WrongAnswer
Black 1 s too slow. Alter 2, thcre
is po way that Black can get twoleyes, -

Correct Answer
Blick sacriftces a stone with 1
and lives-with the moves to 7.

PROBLEM 344

| The: movcs to Black 5 kil all tbe

i Black 1, White can Live bylcap-
white stones.

u:ng four black stones w1th 2 aqd 4,

capture. five stones in a snapback ' with'_.fz and 4. ‘
with 5, killing all the Whltb stones.
PROBLEM 346 R

WrongAmwer
1f Black . reverses the-order of
moves as  here, White - destroys |
¥'s eye shape w1th 2 anit 4.

C orrect Answer
Black can gel Lwo eyes by playing
1 and 3. 1 White 2 at 3, Black 3 at 2,
and Black again has two cyes. Black

— 186 —

‘Ti@].mﬁ]y . i @+ x I
9T 8 B BT K
L& @@ - B 5
N | SRR : %)Q ; ‘;
@ 88P_ +BOT@& g
*' '\ HOW )41‘ —-E( (—}()? 1 B
 OeP0D - 8PSl | T
.- Correct Answer Wrong Answer. a :

éﬁ?@f o . PROBLEM 345 ok
e 9 ;'l‘
. % [ % i
xR J@\__)@ i
L4“L-’2“@*"—L :
. Correct Answer WrongAmwer
If Black plays 1 and 3, he can ¥ Black 1 and 3, Whii'f‘ can lwc= .

bt £ i

= . % g PROBLEM34
:_ . ‘./
e CérrectAnswer
' Whm: kitls Black thh 1 and 3. Black 1, White i xs s alive after he
Correctxnswer : WrongAnswer
kil issthe wtal pomt for lack 1, White throws in a
Black’s Srz:(l;ond eye S -

2 and kills Black with 4,

Correct Answer 1
“Black gets his second eye in the 1
corner with the moves to 5.

uorrect Answer 2
ite plays 2 m answer to 1,

3 will catch the three wh;te
ston s: m the corner.

%??:f

- - : ‘ PROBLEM 3 A
: L1000/ N THrees
o & i 1 E g By
- i BN ! k
_ - 0 g
st 388
e |
- ‘ CO:TectAmwef | !
‘Black kills Whife with the moves S Bl
- tO 3 . . With L]

- — 187 — =




bO.ﬁ"ECf Answer
Playmg from the right with 15
correct. White 15 dead ditcr Rlack 5.

" Cormect Answer
Black can make' eye . shape- by
sacrificing with 1. ancl playmg 3and5.

PROBLEM 353 @@L
‘\ % \ ol e . '
¥ [ ]) s (~)’ %@ - i
H2OG
= iiae
A ST T
. _ @
‘Correct Answer Wrong Answer - _
Zratd o o . If Black 1, White plays 2 and gets
Black sacrifices two stones with 1, tWo eyes: : i
then another with 3. Wh;ttc 18 dcad v |
after Black plays . 5 5
|
PROELEM 354

‘Correci Answer
Black plays 1, followed by 3 and
5 Alter White 6, Black 7 captures
{wo white stones.' "

PROBLEM 352+

188 —

Wrong Answer . !
Black 1-here fails. White hvua
with Z and 4.

Wrong Answer

© 1f ¥ack 1, he is dead aftex thte-. .
. 2 Black must sacnﬁcc a stone to hw,

= éﬁﬁgéﬁi
%@?{éﬁ@g A )@

Wrong Answer
Thke order of moves is unportam

JIf Black piays 1 and 3, the pomuon

turns mto a ko with White 8, i

ik

b %3
13

Comzct Answer

‘White 1 threatens to make eyes i -
- two places. If Black 2 at 3, White 3 at
2, and Whqu still has two eyes.

RSt

WrongAnswer .
te 1, Black plays 2 on th
d White is dead. .

: | Wrong Answer , '
If Whitc m:mcdlately cuts off Lhe
two bléck@ stoncs with 1, Black plays.
2, so White is left with a false eye. .

PROBLEM 357| |

' _ L,orrect Answer ' Wrong Answer
-_,%_ White 17is the wvital point for If v tc tries to save all his
~making. two:eyes.. White then lives stones with 1, Black plays 2 and
. with the moves to 5. . White \ats‘| nly one eye.

[ Tl

-

-

Correct Answer
. White 1 is the vital point. If Black
-~2, White lives with 3 and 5.

PROBLEM 358

: WrongAnswer
Ifw tc 1, Black kills White by

making 4—<pomt nakade with2t0 4.

. ‘ : i :
189 — oF




Wmny Answer

G onccr Amwer ‘
If Bleck 1, White connects™at 2

Throwig in & stone with 1.
creales a ko, which ss the only way -

Black can livc. unconciits:laﬂy dead. !
| F e |
PROBLEM 360 IRYNPS:

{Teled -
o '“‘"@; .
| ?%j

Correct Answer

Wrong Answer
Black kills White with the moves - If Blutk 1, White 2 turns the: posv
-1 a'nd 3, tion nto a ko.
o - PROBLEM361

- Correct Answer WrorgAnswer

© Black kills White by playing the
. moves to 7. White can't do.anything -
because he is short of liberties.

PROBLEM 362 .

with the Yaoves (o 6.

‘ i ‘ Y Loi]

| 5@ | ] ! ééf%@@# tp

+ e |- i @3. N )l_ i_ Lo

b "%‘?'@\_‘ 4?@@@ & - OBS X i s

P v &S «,2.@-}-{_[)@ %@ \ ‘_7:,')&;‘1,)&%),},&_;@.
4 ANV SSWCN S S i . i

: ol

Correct Answer - WrongAmwer

Black kills White by playing 1 and
3. After Black S, White can got only ©
one eye.

stones an< takes the vital poluat. at 2.
With 4, White gets his second eye.”

— 190 —

- S B B
i T N G

and Black has only one eye. Black u,1 .

1f Blask 1, White can get twe eycs

If Bigck 1, White gives up. Lwo

|
i
l
(-
|
!

..: ';|@ . : ...4- Dln e :

Ll | —191—

PROBLEM 363

- Correct Answer '
Black . kills all the white stones’
swith the moves to 6 ' ‘

| !L s ] : t )
‘ Correct Answer _ ' ‘ W;ﬁhg-Ansvver '
" Black 1 1st,the vital point. If Whlte ,If Black:1; White plays 2 and 4, e
"2, Bldc,k hag' wo cy es after playmg 3. kxlhng ti\a lﬁac.k stones.
- - v W}ongAnswer
After Lhe-:: moves to Black 5, If B clﬂl plays 1 first, White can
thte can’'t countt.raltack because he gct a ko :fth 2.
- 15 short-of hbcrucs . fi
g - i . : i!
B PROBLEM 366 |- |-
- |
o o@@@a@@ % 30BOBS
@(Y\@Eg % 200, G0
" . Correct Answer | Wrong Answer
.. White creates a shortage of fiber- Black | Jets White to get a second
‘ties with the moves to 5, killing all eye bypla _'gz. White is now alive.

. the white stones.




"
soee L L wre, S N IS R A = I
Correci Answer * ’ "WTO”L Answer - _‘. L sl s \,om:ctAnswer : : 1WrongAnswer R
: _ 7 White: 1-is the vital point, Whitz I White |plays 1 and 3, Black

“1f Black 1, White - throws m.a !

Black kills Whitc w1th the moves
turns the osmon into a ko thh 4..

o -lgc;s EwO; eyes wnth the moves to. 5,

o toS stone with 2, and the position hc- L
o comes a k! (Blacichas falled. SERENTRL N S Em
. S S ki3
. o ‘zi i ‘ T
PROBLEM 368 i R 1
. - f’qrrectAnswer N ; Wrong Answer
- , : i twWo cyes w:th the White 1 i not sente! White is left ¢
Correct Answer:: . Wrong Answer ‘ without anp eyes after Black pLays 6.
Black kﬂls Whlte w1th 1 and 3.- If Bla(:n 1, Wmte gets two eyes by . 0 M -
la 1 2'. - - ' . ' ’ i L ‘ X o PR BIJE :-1-‘,‘
pagga™ - b0 Lh
PROBLEM 369 L L L
T Correct Answer ' WmngAmwer
- White captures three black stones 4:\connects at 1
' ; . h the moves to This order of moves is wrong.
Correct Answer WrorzoAnswer %nd gets two' cycc; wit !
- ack 1, Wi 1115131 chwth - Lo 50 : : After Black 4, ‘there is no way White
.thelillzzlésht\gz by Lre?.tlng a seki with ., ;‘fﬁ E;l ek hite ack wi L SR - _-‘ | _ o captu . any o StOnCS.
 PROBLEM 370 - | R PROBLEM 377 .
: - . @@@
| 5 - |
| | &-
. - : ' | o s : Correct Answer Wrong Answer ;
Correct Answer . Wrong Answer . i Lo s L o
If Biack plays the moves 1O 7, 1f Black 1, White 18 alive aftér he ! T - White can live by playmg land3. Whi: | o (t::'e 1tmang ; (f;%cgakk;gz :
White 15 dead. He: has no way to. plays 2 aud 4 : R : thhglaz\ W ating a 5P
move because he 18 short of iberties. ' s 3 o -~ T : .
Bt | 13— L

3 f—~192-—-




Correct Answer

Black. i-is a briliant tesuji. If
- White 2, Black catches the white.

stone with 3.

_\6@@ 24
\ ‘\A Jg'-r"%ﬂl

Correct Answer-

Correct Answer
* Black 1 is the vitat pomnt. White 1s
dead after Black plays 3.

A @@@@ .

l @ 1 \ 3

g o %?5@3%

1378
A .. )

o000

Correct Answer
Black icts White capture a stone
with 2 and 4, but all the white stones
are dead alter Black plays 7.

PROBLEM 375

: Black 1 is, the vital point. Blaclc
- pets eyes with the moves to 7.

PROBLEM 37’7

PROBLEM 378

i__(\\/

WrorryAnswer '

The u:der of moves 18 importani..

Black can capture two stones up to 3

but aftar 6 he has cmiy one eye.”

PR()BLEM 376

"r—_r‘-&‘ |
St ,\ W@@@f¢)~
: @k J@@ 51

#Qﬁ%& O

-- Wrong Answer.

Black: 1 fajls. White! kills Bldck‘

with the ;noves.to 8. Black 1 at'5 also
faﬂs after erute piays 2.

e

\J\ ’?é_' -
,I.-<4:a,.;@ 1+

' Wrong Answer
If Black plays 1, White gjct,. two
eyes with 2 and 4. .

Wro'zg Answer |
If Black defends with 1, Whltc ‘;
lives in seki with the moves to 4.

L b

0

Correct Answer

N~
(- -

" Black lives m seki thh 1 and 3.0
e Wlnte A, Black B. '

et q ﬁrectAnswe'
Black 1%1;:-1{1 the vital pomt After

. ‘_,omzct Answer
- O takes ko .
Black® 1 and ‘White 2 are the
-noves you have to find. White starts

the ko with 6.5 .

® —H( .
OO0
Tl S8
L Correct Answer
- Black gets two eyes with 1 and 3.
o .

4 IfBla

PROBLL‘M 381

‘ 1 .WmngAnswer
If Bi@ckT' plays either 1 or A, the
posmon re?omes a S-point nakade.

SRR WrongAnswer
If B ck[51 and 3, White lives with
ai-3, White plays 2.

| F/rongAnswer
L sats,
Whit E{hcrc is a mistake. Black

kills | tea uncondmonally with 3

&

\

@6'

4 rhro: A'm, S: takes; 7: connects
Black ;?-1! ‘here s unreasonable.

e g &
s a;,.:;-:;ﬁ_ R O
g i




7 Cb__rrect Answer
Black sacrifices a stone with 1

‘£ and lives by getting a doubl:, ko with-
the moves to 3 :

Correct Answer
Black plays two hanes with 1 and
3. With the double ko begmmng at’s,
White dies.

Correct Answer
Black 1 {urns this:into a double
ko, White’s stones will now be cap-
tured by Black. '

. n )’) )
@__:L(\( \@ A1
Correct Answer
Black can get an approach-move
ko with 1 and 3. If W“mte 2 .at 3,
Black A gww ako.’

| PROBLEM 385

o Wrong Answer

Black 1 is a nustake. White plays .
2 and it wecomes & smmple ko-that

Black has o win Lo live.

PROBLEM 384

: Wrong Answer
If Black answers 2 with 3, When
White: plays 4, -t Yecomes a. sunple
- ko that Black mmt win to kill Whne

0N )(\ \—\ g
'.@( B
0% @\}”“l—
@B T

S /k it \‘2@(
: ‘553"( 1B /“L
Wron u Answer-
4: iakes ko
CIf Bla(.,. 1, White exchanges 2 2. for
3 and goes back 1o take the ko with
4. Whlte can live by winning this ko

PROBLEM_ 386

i

Wron a Answer
Black - and 3 let White five un-
condmona}ly with 2 and 4.

. . — 196 —

S —

i
1 :
e

et
e Correct Answer. .
£ ‘White 1 and 3 increase White's If
~ Aiberties by one. White wins the cap- the cap
- furing race \mth the maves to 9. "

\;_ B &

b - PROBLEM 338
LN C’&){rsctﬂnkwer N I
~“* White 1jij the vital point, After © 'White-
. the moves 10}5, it is:clear that the:

will- be captured

-+ black stone:

e
- Correct Answer \ Wrong Answer
L s Tvatl Whltl Land 3 fail. After Black 4,
White wms the capturmg race by it is clea that Black wins the captur- -
- -playm x the movcs to 7. ing race Ty orie mOove.
y @-1 PROBLEM 390 |
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s Correcr Answer i Wrong Answer
o - 5: takes ko at 1 : If White!plays 1 and 3, Black wms

i White throws n & stone with 1
_and starts a ko with 5.
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 PROBLEM 387 |

'te plays 1 and 3, he loses- -
rmg race by one move. .

. \Wrong Answer
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 PROBLEM 389 \,

m@l

lWn.mgAn.s'mer .
i 15 too slow. Black now

_ wins ghe pturing race by one move.

the cap ring race by one move.
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